LRP

Part no. [Product name Poes | Tellimisel k(';gzs
S10 Blast Car Line
120300 |LRP S10Blast BX RTR - 1/10 Electric Buggy RTR 2 440 kr 1952 kr 4
S8 BX Car Line
130300 |LRP S8 BXe RTR - 1/8 Electric Buggy RTR 8 480 kr 6 784 kr 1
130301 |LRP S8 Bxe Bind N Drive RTR - 1/8 Electric Buggy BND RTR 8 090 kr 6 472 kr 1
130400 |LRP S8 BXe Team - 1/8 Electric Buggy 6 720 kr 5376 kr 1
130450 |LRP S8 BX Team Electric Buggy - Conversion Kit 1830 kr 1464 kr 1
130500 |LRP S8 TXe RTR - 1/8 Electric Truggy RTR 10 080 kr | 8064 kr 1
130650 |LRP S8 TX Team Electric Truggy - Conversion Kit 2 010 kr 1608 kr 1
131300 |LRP S8 BX RTR - 1/8 Nitro Buggy RTR 6 580 kr 5264 kr 1
131400 |LRP S8 BX Team - 1/8 Nitro Buggy 8 320 kr 6 656 kr 1
131500 |LRP S8 TX RTR - 1/8 Nitro Premium RTR Truggy 9 040 kr 7 232 kr 1
131600 |LRP S8 TX Team - 1/8 Nitro Truggy 10080 kr | 8 064 kr 1
S8 BX/TX - Spare + Option Parts
121213 |1/8 Foam Tyre Insert (blue) - S8 BX RTR 100 kr 80 kr 1
132001 |Wing Mount Plastics + Bumper - S8 110 kr 88 kr 1
132002 |Radio Tray Plastics - S8 130 kr 104 kr 1
132003 |Rear Hub Carriers - S8 110 kr 88 kr 1
132004 |Ball Cup + Linkage-Plastics - S8 110 kr 88 kr 1
132005 |Servo-Saver Plastics + front Suspension Arm Holder - S8 BX 110 kr 88 kr 1
132006 |Front Upper Suspension Arms - S8 BX 110 kr 88 kr 1
132007 |Rear Suspension Arm - S8 BX 140 kr 112 kr 1
132008 |Rear Susp. Arm- and Body Shell-Mount Plastics - S8 BX 130 kr 104 kr 1
132009 |Pivot-Ball Steering Knuckle (2pcs) - S8 110 kr 88 kr 1
132010 |Diff. Case and Brake-Mount Plastics - S8 220 kr 176 kr 1
132011 |Front Lower Suspension Arms - S8 BX 160 kr 128 kr 1
132012 |Chassis Side Guard Set - S8 BX 80 kr 64 kr 1
132013 |[Gear Box - S8 160 kr 128 kr 1
132014 |Dish Wheels (yellow) - S8 BX 100 kr 80 kr 1
132015 |Dish Wheels (white) - S8 BX 100 kr 80 kr 1
132016 |Insert- and Bushing Plastics Set - S8 170 kr 136 kr 1
132017 |Fuel Tank incl. Mounts and Splashguard - S8 BX 170 kr 136 kr 1
132018 |Shock Plastics - S8 RTR 80 kr 64 kr 1
132019 |Shock Plastics - S8 BX Team 80 kr 64 kr 1
132020 |Shock Body (f+r) - S8 RTR 170 kr 136 kr 1
132021 |Shock Caps (top+bottom) (2pcs) - S8 RTR 100 kr 80 kr 1
132022 |Front Shock Tower - S8 BX RTR 200 kr 160 kr 1
132023 |Fore Aluminium Susp. Arm Hinge Pin Brace Front - S8 RTR 90 kr 72 kr 1
132024 |Aluminium Steering-Servo Mounting - S8 RTR 100 kr 80 kr 1
132025 |Rear Shock Tower - S8 BX RTR 200 kr 160 kr 1
132026 |Chassis Plate - S8 BX RTR 690 kr 552 kr 1
132027 |Brake Disc (2pcs) - S8 RTR 130 kr 104 kr 1
132028 |Aluminium Steering Slider - S8 BX RTR 60 kr 48 kr 1
132029 |Rear Aluminium Susp. Arm Brace - S8 RTR 100 kr 80 kr 1
132030 |Aluminium Steering Top-Plate - S8 RTR 170 kr 136 kr 1
132031 |Engine Mount Plate - S8 BX RTR 70 kr 56 kr 1
132032 |Front Shock Set - S8 BX RTR 310 kr 248 kr 1




132033 |Rear Shock Set - S8 BX RTR 310 kr 248 kr 1
132034 |Front Shock Spring - S8 RTR 70 kr 56 kr 1
132035 |Rear Shock Spring - S8 RTR 70 kr 56 kr 1
132036 |Front Shock Shaft (2pcs) - S8 70 kr 56 kr 1
132037 |Rear Shock Shaft (2pcs) - S8 80 kr 64 kr 1
132038 |Shock Sealing Set (2pcs) - S8 70 kr 56 kr 1
132039 [Shock End Set (f+r) - S8 70 kr 56 kr 1
132040 |Upper Shock Mounting Set (2pcs) - S8 110 kr 88 kr 1
132041 |Body Clip small (4mm) - S8 50 kr 40 kr 2
132042 |Body Clip medium (4mm) - S8 60 kr 48 kr 2
132043 |Body Clip big (5mm) - S8 70 kr 56 kr 2
132044 |Throttle- /Brake-Linkage (rods only) - S8 BX 70 kr 56 kr 2
132045 |Steering Servo Turnbuckle (2pcs) - S8 70 kr 56 kr 1
132046 |Steerng Turnbuckle Set - S8 BX 80 kr 64 kr 1
132047 |Rear Turnbuckle Set - S8 BX 90 kr 72 kr 1
132048 |Front Upper Turnbuckle Set - S8 BX RTR 90 kr 72 kr 1
132049 |Throttle-/Brake-Linkage Small Parts 50 kr 40 kr 1
132050 |Differential Axle-, Pin-Set (4pcs/1 Diff.) - S8 80 kr 64 kr 1
132051 |Fastening Pin Rear Susp. Arm + Front Chassis Brace (3pcs) - S8 100 kr 80 kr 1
132052 |Hinge Pin Set (6pcs) - S8 BX 110 kr 88 kr 1
132054 |Hex Wheel-Adapter (2pcs) - S8 RTR 180 kr 144 kr 1
132055 |Front Sway Bar Set (2,0+2,2+2,5mm) - S8 BX 110 kr 88 kr 1
132056 |Rear Sway Bar Set (2,5+2,8+3,0mm) - S8 BX 110 kr 88 kr 1
132057 |Differential Gear Set (6pcs) - S8 110 kr 88 kr 1
132058 |Steel Main Gear 44T - S8 BX RTR 280 kr 224 kr 1
132059 |Differential Crown Gear 38T - S8 220 kr 176 kr 1
132060 |Diff Pinion Gear 11T - S8 130 kr 104 kr 1
132061 |Servo Saver Spring, Bolt and Retainer - S8 100 kr 80 kr 1
132062 |Servo Saver Screw (2pcs) - S8 50 kr 40 kr 1
132063 |Servo Saver Post (2pcs) - S8 BX 70 kr 56 kr 1
132064 |Outdrives Middle Differential - S8 RTR 160 kr 128 kr 1
132065 |Outdrives front+rear Diff. - S8 RTR 110 kr 88 kr 1
132066 |Outdrives Gear Box - S8 RTR 110 kr 88 kr 1
132067 |Rear Hub Carrier Axle (2pcs) - S8 RTR 110 kr 88 kr 1
132068 |Dogbone Middle Differential (f+r) - S8 BX RTR 160 kr 128 kr 1
132069 |Rear Dogbone (2pcs) - S8 BX RTR 160 kr 128 kr 1
132070 |Front CVD Drive Shaft (2pcs) - S8 BX 460 kr 368 kr 1
132071 |Servo Saver Eyelets (4pcs) - S8 70 kr 56 kr 1
132072 |Sway-Bar Suspension Ball (4pcs) - S8 BX RTR 50 kr 40 kr 1
132073 |Sway-Bar Socket Joint (4Stk.) - S8 RTR 70 kr 56 kr 1
132074 |Suspension Ball 9,8mm (4pcs) - S8 80 kr 64 kr 1
132075 |Steerig Ballstud (4pcs) - S8 100 kr 80 kr 1
132076 |Steering Eyelets 6,6mm (4pcs.) - S8 80 kr 64 kr 1
132077 |Rear Upper Ball-End Shock Tower (4pcs) - S8 RTR 80 kr 64 kr 1
132078 |Rear Upper Suspension Ball Hub Carrier (4pcs) - S8 RTR 100 kr 80 kr 1
132079 |Pivot-Ball Ball-End 14mm (2pcs) - S8 RTR 110 kr 88 kr 1
132080 |Aluminium Knurled Collar (10pcs.) - S8 RTR 80 kr 64 kr 1
132081 |Steering Washer (10pcs) - S8 110 kr 88 kr 1
132082 |Brake Piston (4pcs) - S8 110 kr 88 kr 1
132083 |Brake Lever (2x2pcs) - S8 110 kr 88 kr 1




132084 |Aluminium Fuel Filter - S8 100 kr 80 kr 1
132085 |Shock Bladder (4pcs) - S8 BX 40 kr 32 kr 2
132086 |O-Ring Differential 6.0x1.78mm (8pcs) - S8 40 kr 32 kr 2
132087 |O-Ring Fuel Tank Posts 4.7x2.5mm (8pcs) - S8 40 kr 32 kr 2
132088 |Ball Bearing 6x10x3mm (4pcs) - S8 70 kr 56 kr 1
132089 |Ball Bearing 8x16x5mm (10pcs) - S8 200 kr 160 kr 1
132090 |Ball Bearing 5x10x4mm (10pcs) - S8 160 kr 128 kr 1
132093 |Air Filter Set - S8 130 kr 104 kr 1
132094 |Differential Case Sealing (6pcs) - S8 40 kr 32 kr 2
132095 |Switch Dust Cover - S8 40 kr 32 kr 2
132099 |Body Shell Prepainted red/silver/blue - S8 BX RTR 610 kr 488 kr 1
132100 |Crystal Clear Body Shell - S8 BX Team 430 kr 344 kr 1
132101 |Antenna Tube blue - S8 RTR 30 kr 24 kr 2
132102 |Antenna Tube black - S8 Team 30 kr 24 kr 2
132103 |Pipe Mount Set - S8 RTR 70 kr 56 kr 1
132106 |Engine Mount (silver) - S8 BX RTR 100 kr 80 kr 1
132150 |M3x14mm Socket Head Screw (10pcs) - S8 Team 40 kr 32 kr 2
132151 |M3x25mm Socket Head Screw (10pcs) - S8 Team 40 kr 32 kr 1
132152 |M3x30mm Socket Head Screw (10pcs) - S8 Team 40 kr 32 kr 1
132153 |M4x14mm Socket Head Screw (10pcs) - S8 Team 40 kr 32 kr 1
132154 |M4x18mm Socket Head Screw (10pcs) - S8 Team 40 kr 32 kr 2
132155 |M3x8mm Countersunk Screw (10pcs) - S8 Team 40 kr 32 kr 2
132156 |M3x14mm Countersunk Screw (10pcs) - S8 Team 40 kr 32 kr 2
132157 |M3x16mm Countersunk Screw (10pcs) - S8 Team 40 kr 32 kr 2
132158 |M4x6mm Countersunk Screw (10pcs) - S8 Team 40 kr 32 kr 2
132159 |M4x8mm Countersunk Screw (10pcs) - S8 Team 40 kr 32 kr 1
132160 |M4x14mm Countersunk Screw (10pcs) - S8 Team 40 kr 32 kr 2
132161 |M3x3mm Set Screw (10pcs) - S8 40 kr 32 kr 2
132162 |M5x4mm Set Screw (10pcs) - S8 40 kr 32 kr 2
132163 |M4x4mm Set Screw (10pcs) - S8 40 kr 32 kr 2
132164 |M4x8mm Set Screw (10pcs) - S8 40 kr 32 kr 2
132165 |M5x6mm Set Screw (10pcs) - S8 40 kr 32 kr 2
132166 |3x8x0,8mm Washer (10pcs) - S8 40 kr 32 kr 2
132167 |4x8x0,8mm Washer (10pcs) - S8 40 kr 32 kr 2
132168 |5x7x0,2mm Washer (10pcs) - S8 40 kr 32 kr 1
132169 |816x0,1mm Washer (10pcs) - S8 50 kr 40 kr 1
132170 |8x16x0,2mm Washer (10pcs) - S8 50 kr 40 kr 1
132171 |M3x10mm Button Head Screw (10pcs) - S8 Team 40 kr 32 kr 1
132172 |M3x14mm Button Head Screw (10pcs) - S8 Team 40 kr 32 kr 1
132173 |M3x16mm Button Head Screw (10pcs) - S8 Team 40 kr 32 kr 1
132174 |M3x25mm Button Head Screw (10pcs) - S8 Team 40 kr 32 kr 2
132175 |M3x10mm Countersunk TP Screw (10pcs) - S8 Team 40 kr 32 kr 2
132176 |M3x12mm Countersunk TP Screw (10pcs) - S8 Team 40 kr 32 kr 2
132177 |M4x15mm Countersunk TP Screw (10pcs) - S8 Team 40 kr 32 kr 2
132178 |M3,5x20mm Countersunk TP Screw (Phillips) (10pcs) - S8 40 kr 32 kr 2
132179 |M3 Lock Nut black (10pcs) - S8 40 kr 32 kr 2
132180 |M4 Lock Nut black (10pcs) - S8 40 kr 32 kr 2
132181 |M3x8mm Button Head TP Screw (10pcs) - S8 Team 40 kr 32 kr 2
132182 |M3x10mm Button Head TP Screw (10pcs) - S8 Team 40 kr 32 kr 2
132183 |M3x12mm Button Head TP Screw (10pcs) - S8 Team 40 kr 32 kr 2




132184 |M3x14mm Button Head TP Screw (10pcs) - S8 Team 40 kr 32 kr 2
132185 |M3x16mm Button Head TP Screw (10pcs) - S8 Team 40 kr 32 kr 2
132186 |M3,5x45 Button Head TP Screw (Phillips) (10pcs) - S8 40 kr 32 kr 1
132187 |M3 Flanked Nut blue (10pcs) - S8 Team 100 kr 80 kr 1
132188 |M3 Flanked Nut silver (10pcs) - S8 Team 40 kr 32 kr 2
132189 |M4 Flanked Nut blue (10pcs) - S8 Team 110 kr 88 kr 1
132190 |M3x8mm Flanked Screw (10pcs) - S8 40 kr 32 kr 1
132191 |High Downforce Wing (white) - S8 130 kr 104 kr 1
132192 |High Downforce Wing (yellow) - S8 130 kr 104 kr 1
132193 |M3x4mm Set Screw (10pcs) - S8 30 kr 24 kr 1
132194 |M3x18mm Button Head Screw (10pcs) - S8 40 kr 32 kr 1
132195 |M3x10mm Countersunk Screw (10pcs) - S8 Team 40 kr 32 kr 1
132196 |M4x8mm Button Head Screw (4pcs) - S8 Team 30 kr 24 kr 1
132197 |BigBore Shock Set Front (2pcs) - S8 TX Team 690 kr 552 kr 1
132198 |BigBore Shock Set Rear (2pcs) - S8 TX Team 690 kr 552 kr 1
132199 |BigBore Front Shock Body (2pcs) - S8 TX Team 150 kr 120 kr 1
132200 |BigBore Rear Shock Body (2pcs) - S8 TX Team 150 kr 120 kr 1
132201 |BigBore Shock Caps (4pcs) - S8 TX Team 210 kr 168 kr 1
132202 |BigBore Tension Ring + lower Shock Cap (4pcs) 120 kr 96 kr 1
132203 |BigBore Sealing Set - S8 90 kr 72 kr 1
132204 |BigBore Front Spring (white) - S8 BX 70 kr 56 kr 1
132205 |BigBore Rear Spring (white) - S8 BX 70 kr 56 kr 1
132206 |BigBore Front Spring (white) - S8 TX 70 kr 56 kr 1
132207 |BigBore Rear Spring (white) - S8 TX 70 kr 56 kr 1
132208 |Rear CVD Drive Shaft (2pcs) - S8 TX 440 kr 352 kr 1
132209 |Front CVD Drive Shaft (2pcs) - S8 TX Team 440 kr 352 kr 1
132210 |LRP 1/8 Buggy Tyre (Medium) (2pcs.) with insert - S8 BX 280 kr 224 kr 1
132211 |LRP 1/8 Buggy Tyre with insert - S8 BX RTR 230 kr 184 kr 1
132212 |LRP 1/8 Buggy Tyre (Soft) with insert - S8 BX Team 280 kr 224 kr 1
132214 |Rear Shock Tower - S8 TX Team 510 kr 408 kr 1
132215 |Front Shock Tower - S8 TX RTR 200 kr 160 kr 1
132216 |Rear Shock Tower - S8 TX RTR 220 kr 176 kr 1
132217 |Alum. Anti-Flex Brace Middle-diff/Engine (blue) - S8 TX Team 620 kr 496 kr 1
132218 |Front Shock Set - S8 TX RTR 290 kr 232 kr 1
132219 |Rear Shock Set - S8 TX RTR 290 kr 232 kr 1
132220 |Engine Mount (blue) - S8 TX Team 220 kr 176 kr 1
132221 |Chassis Plate - S8 TX Team 1100 kr 880 kr 1
132222 |Chassis Plate - S8 TX RTR 980 kr 784 kr 1
132223 |Rear Aluminium Chassis Brace (blue) - S8 TX Team 570 kr 456 kr 1
132224 |Front Upper Suspension Arms - S8 TX 120 kr 96 kr 1
132225 |Front Lower Suspension Arms - S8 TX 140 kr 112 kr 1
132226 |Rear Suspension Arm - S8 TX 140 kr 112 kr 1
132227 |Low Profile Dish Wheels (yellow) - S8 TX 150 kr 120 kr 1
132228 |Low-Profile Dish Wheels (white) - S8 TX 150 kr 120 kr 1
132229 |Chassis Side Guard Set - S8 TX 110 kr 88 kr 1
132230 |Crystal Clear Body Shell - S8 TX Team 510 kr 408 kr 1
132231 |Body Shell Prepainted red/silver/blue - S8 TX RTR 670 kr 536 kr 1
132232 |Fuel Tank incl. Mounts/Splashguard - S8 TX 170 kr 136 kr 1
132233 |Front Shock Spring (black) - S8 TX RTR 70 kr 56 kr 1
132234 |Rear Shock Spring (black) - S8 TX RTR 70 kr 56 kr 1




132235 |Center CVD Drive Shaft f+r (2pcs) - S8 TX Team 440 kr 352 kr 1
132236 |Doghone Middle Differential (f+r) - S8 TX RTR 220 kr 176 kr 1
132237 |Rear Dogbone (2pcs) - S8 TX RTR 220 kr 176 kr 1
132238 |Front Shock Tower - S8 TX Team 440 kr 352 kr 1
132239 |LRP 1/8 LP Truggy Tyre w/insert - S8 TX RTR 310 kr 248 kr 1
132240 |1/8 Truggy Foam Tyre Insert - S8 TX RTR 110 kr 88 kr 1
132241 |Throttle- /Brake-Linkage (rods only) - S8 TX 50 kr 40 kr 1
132242 |Machined Steel Main Gear 58T - S8 TX Team 620 kr 496 kr 1
132243 |Steel Main Gear 58T - S8 TX RTR 540 kr 432 kr 1
132244 |Nut Engine/Chassis-Brace (7pcs) - S8TX Team 210 kr 168 kr 1
132246 |Engine Mount Plate (2pcs) - S8 TX RTR 110 kr 88 kr 1
132247 |Pipe Mount Set (blue) - S8 TX Team 100 kr 80 kr 1
132248 |Pipe Mount Set (silver) - S8 TX RTR 90 kr 72 kr 1
132249 |Plastic Part Set - S8 TX 150 kr 120 kr 1
132250 |Front Shock Tower - S8 BX Team 340 kr 272 kr 1
132251 |Fore Aluminium Susp. Arm Hinge Pin Brace Front - S8 Team 110 kr 88 kr 1
132252 |Aluminium Steering-Servo Mounting - S8 Team 200 kr 160 kr 1
132253 |Rear Shock Tower - S8 BX Team 400 kr 320 kr 1
132254 |Back Aluminium Susp. Arm Brace Rear - S8 Team 130 kr 104 kr 1
132255 |Chassis Plate - S8 BX Team 920 kr 736 kr 1
132256 |Machined Brake Disc (2pcs) - S8 Team 140 kr 112 kr 1
132257 |Machined Aluminium Steering Slider (66mm) - S8 Team 140 kr 112 kr 1
132258 |Aluminium Steering Top-Plate - S8 Team 250 kr 200 kr 1
132259 |Engine Mount Plate - S8 BX Team 230 kr 184 kr 1
132260 |Front Shock Set - S8 BX Team 460 kr 368 kr 1
132261 |Rear Shock Set - S8 BX Team 540 kr 432 kr 1
132262 |Front Shock Spring (white) - S8 BX Team 80 kr 64 kr 1
132263 |Rear Shock Spring (white) - S8 BX Team 80 kr 64 kr 1
132264 |Front Shock Body (2pcs) - S8 BX Team 190 kr 152 kr 1
132265 |Rear Shock Body (2pcs) - S8 BX Team 220 kr 176 kr 1
132266 |Shock Caps (2pcs) - S8 BX Team 160 kr 128 kr 1
132267 |Rear Turnbuckle Set - S8 BX Team 80 kr 64 kr 1
132268 |Front Upper Turnbuckle Set - S8 BX Team 80 kr 64 kr 1
132269 |Steel Bushing Set Suspension Arms (6pcs) - S8 Team 80 kr 64 kr 1
132270 |Machined Steel Main Gear 44T - S8 BX Team 280 kr 224 kr 1
132271 |Outdrives Middle Differential (light) - S8 Team 230 kr 184 kr 1
132272 |Outdrives front+rear Diff. (light) - S8 Team 230 kr 184 kr 1
132273 |Rear CVD Drive Shaft (2pcs) - S8 BX Team 460 kr 368 kr 1
132274 |Center CVD Drive Shaft f+r (2pcs) - S8 BX Team 460 kr 368 kr 1
132276 |Hex Wheel-Adapter (blue) (2pcs) - S8 Team 170 kr 136 kr 1
132277 |Sway-Bar Socket Joint (4Stk.) - S8 Team 110 kr 88 kr 1
132278 |Rear Upper Ball-End Shock Tower (4pcs) - S8 Team 80 kr 64 kr 1
132279 |Rear Upper Suspension Ball Hub Carrier (4pcs) - S8 Team 110 kr 88 kr 1
132280 |Pivot-Ball Ball-End 14mm (2pcs) - S8 Team 100 kr 80 kr 1
132281 |Aluminium Knurled Collar (blue) (10pcs.) - S8 Team 80 kr 64 kr 1
132282 |Steering Washer (10pcs) - S8 Team 80 kr 64 kr 1
132283 |Back Aluminium Susp. Arm Hinge Pin Brace Front - S8 Team 230 kr 184 kr 1
132284 |Front Aluminium Chassis Brace (blue) - S8 BX Team 310 kr 248 kr 1
132285 |Aluminium Center Bulkhead Top Plate (blue) - S8 BX Team 140 kr 112 kr 1
132286 |Aluminium Wing Mount Braces (blue) - S8 Team 110 kr 88 kr 1




132287 |Aluminium Wing Mount Washer - S8 Team 70 kr 56 kr 1
132288 |Rear Aluminium Chassis Brace (blue) - S8 BX Team 390 kr 312 kr 1
132289 |Aluminium Fuel Filter (big size) - S8 Team 110 kr 88 kr 1
132290 |Rubber Bushing Set Upper Shock Mount (4pcs) - S8 Team 70 kr 56 kr 1
132291 |Rubber Bushing Set Susp. Arms (6.pcs) - S8 Team 70 kr 56 kr 1
132292 |Rubber Bushing Set Chassis Braces (4pcs) - S8 Team 70 kr 56 kr 1
132293 |Shock Boot (4pcs) - S8 Team 50 kr 40 kr 1
132294 |Pipe Mount Set (blue) - S8 Team 70 kr 56 kr 1
132295 |Engine Mount (blue) - S8 BX Team 140 kr 112 kr 1
132296 |Shock-Sealing + -Valve-Set (2pcs) - S8 BX Team 100 kr 80 kr 1
132300 |Front Sway Bar Set (2,0+2,2+2,5mm) - S8 TX 130 kr 104 kr 1
132301 |Rear Sway Bar Set (2,5+2,8+3,0mm) - S8 TX 130 kr 104 kr 1
132302 |Rear Upper Turnbuckle (2pcs) - S8 TX 120 kr 96 kr 1
132303 |Turnbuckle Steering (2pcs) - S8 TX 130 kr 104 kr 1
132304 |Turnbuckle Steering Servo (2pcs) - S8 TX 70 kr 56 kr 1
132305 |Engine Mount (silver) - S8 TX RTR 110 kr 88 kr 1
132306 |BigBore Shock Bladder (4pcs) - S8 60 kr 48 kr 1
132307 |Brake Piston big (4pcs) - S8 110 kr 88 kr 1
132308 |M3x50mm Button Head Screw (5pcs) - S8 60 kr 48 kr 1
132309 |M2x8mm Phillips Button Head TP Screw (20pcs) - S8 50 kr 40 kr 1
132312 |High Downforce Wing (black) - S8 130 kr 104 kr 1
132313 |Clear Body Shell Evo2 - S8 BX 430 kr 344 kr 1
132314 |Brake kit Ultra Power (complete brake -kit) - S8 290 kr 232 kr 1
132315 |Machined Brake Disc Ultra Power (2pcs) - S8 100 kr 80 kr 1
132316 |Brake Pads Ultra Power (4pcs) - S8 100 kr 80 kr 1
132317 |M3x17mm Left/Right Thread Shock Screw (8pcs) - S8 40 kr 32 kr 1
132401 |1/8 Buggy Manifold - S8 BX RTR 220 kr 176 kr 1
132402 |1/8 Buggy Pipe - S8 BX RTR 430 kr 344 kr 1
132403 |1/8 .21 Exhaust Gasket - S8 BX RTR 40 kr 32 kr 1
132405 |Silicon Fuel Tube (clear) - S8 BX Team 70 kr 56 kr 1
132406 |Silicon Exhaust Coupling (blue) - S8 BX RTR 80 kr 64 kr 1
132407 |Fly-Wheel 35mm (silver) - S8 BX RTR 160 kr 128 kr 1
132408 |SG Clutch Nut - S8 BX 40 kr 32 kr 1
132409 |Fly-Wheel 38mm (silver) - S8 TX RTR 160 kr 128 kr 1
132450 |Plastic Part Set Electric Car - S8e 320 kr 256 kr 1
132451 |Battery Strap (2pcs)- S8e 20 kr 16 kr 1
132452 |Foampad Battery Tray - S8e 10 kr 8 kr 1
132453 |Aluminium Motor Mount / Middle Differential Mount - S8e RTR 310 kr 248 kr 1
132454 |Aluminium Motor Mount / Middle Differential Mount - S8e Team 410 kr 328 kr 1
132455 |Center CVD Drive Shaft f+r (2pcs) - S8 BXe 390 kr 312 kr 1
132456 |Center CVD Drive Shaft f+r (2pcs) - S8 TXe 410 kr 328 kr 1
132457 |Dogbone Middle Differential (f+r) - S8 BXe RTR 120 kr 96 kr 1
132458 |Dogbhone Middle Differential (f+r) - S8 TXe RTR 160 kr 128 kr 1
132459 |9T Pinion Gear - S8e 130 kr 104 kr 1
132460 |10T Pinion Gear - S8e 130 kr 104 kr 1
132461 |11T Pinion Gear - S8e 120 kr 96 kr 1
132462 |12T Pinion Gear - S8e 120 kr 96 kr 1
132463 |13T Pinion Gear - S8e 120 kr 96 kr 1
132464 |14T Pinion Gear - S8e 120 kr 96 kr 1
132465 |15T Pinion Gear - S8e 130 kr 104 kr 1




132466 |16T Pinion Gear - S8e 130 kr 104 kr 1
132467 |17T Pinion Gear - S8e 130 kr 104 kr 1
132468 |Rear Chassis Brace Plastic - S8 BXe 40 kr 32 kr 1
132469 |Rear Chassis Brace Plastic - S8 TXe 40 kr 32 kr 1
132470 |Chassis Plate - S8 BXe Team 1090 kr 872 kr 1
132471 |Chassis Plate - S8 BXe RTR 970 kr 776 kr 1
132472 |Chassis Plate - S8 TXe Team 1270 kr 1016 kr 1
132473 |Chassis Plate - S8 TXe RTR 930 kr 744 kr 1
132474 |Body Shell Prepainted blue/white - S8 BXe RTR 470 kr 376 kr 1
132475 |Body Shell Prepainted blue/white - S8 TXe RTR 600 kr 480 kr 1
132476 |Steel Main Gear 46T - S8 TXe RTR 250 kr 200 kr 1
132477 |Rear Body Shell-Mount - S8e 50 kr 40 kr 1
132550 [Decal Sheet - S8 BX 110 kr 88 kr 1
132551 |Decal Sheet - S8 TX (2pcs) 110 kr 88 kr 1
132627 |Brake lever long, 2x20mm + 2x25mm  (4pcs) - S8 90 kr 72 kr 1
132720 |LRP Servo R-7020, 3kg 170 kr 136 kr 1
132740 |LRP Servo R-7140, 9kg, Metal Gears, Ballbearing 490 kr 392 kr 1
119164 |ALUM. MOTOR HEAT SINK 70 kr 56 kr 1
132350 |Aluminium Front Upper Arm Mount (blue) - S8 350 kr 280 kr 1
132351 |Aluminium Rear Hub Carriers (blue) - S8 880 kr 704 kr 1
132352 |Aluminium Fore Susp. Arm Mount Rear (blue) - S8 760 kr 608 kr 1
132353 |Machined Aluminium Steering Slider (68mm) - S8 160 kr 128 kr 1
132560 |Front Shock Spring (silver/hard) - S8 BX 80 kr 64 kr 1
132561 |Rear Shock Spring (silver/hard) - S8 BX 80 kr 64 kr 1
132562 |Front Shock Spring (grey/medium) - S8 BX 80 kr 64 kr 1
132563 |Rear Shock Spring (grey/medium) - S8 BX 80 kr 64 kr 1
132570 |BigBore Tuning Shock Set Front - S8 BX 690 kr 552 kr 1
132571 |BigBore Tuning Shock Set Rear - S8 BX 690 kr 552 kr 1
132580 |Blue Titanium Rear Turnbuckle Set - S8 BX 310 kr 248 kr 1
132581 |Blue Titanium Front Upper Turnbuckle Set - S8 BX 310 kr 248 kr 1
132582 |Blue Titanium Steerng Turnbuckle Set - S8BX 310 kr 248 kr 1
132583 |Blue Aluminium Servo Arm Throttle/Brake - Futaba (23) 130 kr 104 kr 1
132584 |Blue Aluminium Servo Arm Throttle/Brake - Sanwa/KO/JR (25) 130 kr 104 kr 1
132585 |Blue Aluminium Servo Arm Steering - Futaba (23) 140 kr 112 kr 1
132586 |Blue Aluminium Servo Arm Steering - Sanwa/KO/JR (25) 140 kr 112 kr 1
132587 |Front Sway Bar Set 2 (2,1+2,3+2,4mm) 130 kr 104 kr 1
132588 |Rear Sway Bar Set 2 (2,6+2,7+2,9mm) 130 kr 104 kr 1
132589 |Teflon Shock Pistons 4x1,4mm (4pcs) 170 kr 136 kr 1
132590 |Big Bore Teflon Shock Pistons 4x1,4mm (4pcs.) 190 kr 152 kr 1
132593 |Covered Wheel Nut, blue (4pcs) 470 kr 376 kr 1
132594 |Steering Washer wide (2.5mm) (4pcs) - S8 90 kr 72 kr 1
132595 |Chassis Plate 7mm longer (incl. Middle drive shaft) S8BX 1400 kr 1120 kr 1
132596 |Big Bore Teflon Shock Pistons 6x1,4mm (4pcs.) 180 kr 144 kr 1
132597 |Big Bore Teflon Shock Pistons 8x1,3mm (4pcs.) 180 kr 144 kr 1
132598 |Aluminium Center Bulkhead Top Plate (blue) - S8 TX 270 kr 216 kr 1
132599 |Front Aluminium Chassis Brace (blue) - S8 TX 460 kr 368 kr 1
132600 |Alum. Fore Susp. Arm Mount Rear 1,5 Toe-In - S8 1100 kr 880 kr 1
132601 |BigBore Front Spring (grey/medium) - S8 BX 70 kr 56 kr 1
132602 |BigBore Rear Spring (grey/medium) - S8 BX 70 kr 56 kr 1
132603 |BigBore Front Spring (silver/hard) - S8 BX 70 kr 56 kr 1




132604 |BigBore Rear Spring (silver/hard) - S8 BX 70 kr 56 kr 1
132605 |BigBore Front Spring (blue/medium) - S8 TX 70 kr 56 kr 1
132606 |BigBore Rear Spring (blue/medium) - S8 TX 70 kr 56 kr 1
132607 |BigBore Front Spring (brown/hard) - S8 TX 70 kr 56 kr 1
132608 |BigBore Rear Spring (brown/hard) - S8 TX 70 kr 56 kr 1
132609 |Blue Aluminium Servo Arm Throttle/Brake - HiTech 110 kr 88 kr 1
132610 |Inserts Front Alum. Upper Arm Mount (2pcs) 100 kr 80 kr 1
132611 |Star Wheel-Adapter light (blue) (2pcs) - S8 130 kr 104 kr 1
132612 |Carbon Front Shock Tower - S8 BX 420 kr 336 kr 1
132613 |Carbon Rear Shock Tower - S8 BX 550 kr 440 kr 1
132614 |Carbon Steering Slider (66mm) - S8 190 kr 152 kr 1
132615 |Carbon Center Bulkhead Top Plate - S8 BX 220 kr 176 kr 1
132616 |Aluminium Upper Shock Mounting (lightweight) - S8 190 kr 152 kr 1
132617 |Aluminium CVD Outdrive front (lightweight) - S8 210 kr 168 kr 1
132618 |Aluminium CVD Outdrive rear (lightweight) - S8 210 kr 168 kr 1
132619 |Carbon Steering Servo Mounting Plate - S8 260 kr 208 kr 1
132620 |Carbon Steering Top-Plate - S8 280 kr 224 kr 1
132621 |Machined Steel Main Gear 45T - S8 BX 330 kr 264 kr 1
132622 |Machined Steel Main Gear 46T - S8 BX/ Txe 390 kr 312 kr 1
132623 |Lightweight Chassisplate S8 TX 1270 kr 1016 kr 1
132624 |One-Piece Aluminium engine mount (blue) - S8 570 kr 456 kr 1
132625 |Titanium coated Shock Shaft front (gold) (2pcs)- S8 100 kr 80 kr 1
132626 |Titanium coated Shock Shaft rear (gold) (2pcs) - S8 100 kr 80 kr 1
132628 |Hinge Pin Set Titanium (6pcs) - S8 280 kr 224 kr 1
132629 |Chassis Plate 22mm longer (incl. middle drive shaft) S8TX 1530 kr 1224 kr 1
S10 Blast - Spare + Option Parts
120900 |Complete Differential Set (1 pc.) - S10 340 kr 272 kr 1
120901 |Diff Pinion Gear 13T (2pcs) - S10 130 kr 104 kr 1
120902 |Differential Outdrives front+rear - S10 70 kr 56 kr 1
120903 |Gear Box (1pcs) - S10 100 kr 80 kr 1
120904 |Outdrive Gear Box front (2pcs) - S10 60 kr 48 kr 1
120905 |Front Shock Tower - S10 BX 60 kr 48 kr 1
120906 |Rear Shock Tower - S10 BX 70 kr 56 kr 1
120907 |Front Suspension Arm Set - S10 BX 90 kr 72 kr 1
120908 |Rear Suspension Arm Set - S10 BX 90 kr 72 kr 1
120909 |Front and rear Chassis Plate - S10 70 kr 56 kr 1
120910 |Rear Hub Carriers + Hex Wheel-Adapter (each with 2pcs) - S10 70 kr 56 kr 1
120911 |Front C-Hub Carriers - S10 70 kr 56 kr 1
120912 |Steering Knuckle+Hex Wheel-Adapter (each with 2pcs) - S10 90 kr 72 kr 1
120913 |Front and rear Upper Chassis Brace - S10 70 kr 56 kr 1
120914 |Middle Chassis Plate - S10 130 kr 104 kr 1
120915 |Susp. Arm Hinge Pin Brace front and rear - S10 70 kr 56 kr 1
120916 |Servo-Saver Set - S10 150 kr 120 kr 1
120917 |Front Shock Set - S10 BX 210 kr 168 kr 1
120918 |Rear Shock Set - S10 BX 230 kr 184 kr 1
120919 |Middle Upper Chassis Plate - S10 70 kr 56 kr 1
120920 |Front Shock Spring (black) - S10 BX 50 kr 40 kr 1
120921 |Rear Shock Spring (black) - S10 BX 50 kr 40 kr 1
120922 |Front Sway Bar Set - S10 BX 70 kr 56 kr 1
120923 |[Rear Sway Bar Set - S10 BX 70 kr 56 kr 1




120924 |Slipper Clutch complete with Main Gear 68T - S10 260 kr 208 kr 1
120925 |3x30mm Hinge Pin (4pcs) - S10 110 kr 88 kr 1
120926 |3x48.5mm Hinge Pin (4pcs) - S10 110 kr 88 kr 1
120927 |Wing Mount Plastics + Bumper - S10 70 kr 56 kr 1
120928 |Front CVD Drive Shaft (2pcs) - S10 BX 140 kr 112 kr 1
120929 |Aluminium Center Driveshaft - S10 70 kr 56 kr 1
120930 |Rear Dogbone (2pcs) - S10 BX 100 kr 80 kr 1
120931 |Battery Tray and Posts - S10 70 kr 56 kr 1
120932 |Dogbone-Outdrive Slipper Clutch (2pcs) - S10 60 kr 48 kr 1
120933 |Small Parts Set Slipper - S10 90 kr 72 kr 1
120934 |Main Gear 68T and Slipperpads - S10 110 kr 88 kr 1
120935 |Rear Hub Carrier Axle (2pcs) - S10 70 kr 56 kr 1
120936 |Front Upper Turnbuckle Set - S10 BX 70 kr 56 kr 1
120937 |Rear Turnbuckle Set - S10 BX 70 kr 56 kr 1
120938 |Steering Servo Turnbuckle (2pcs) - S10 70 kr 56 kr 1
120939 |Turnbuckle Set Steering - S10 BX 70 kr 56 kr 1
120940 |Aluminium Motor Mount - S10 300 kr 240 kr 1
120941 |21T Pinion Gear - S10 60 kr 48 kr 1
120942 |Aluminium strut (4pcs) - S10 70 kr 56 kr 1
120943 |Servo Saver Post (2pcs) + Ball Bearing (4pcs) - S10 110 kr 88 kr 1
120944 |Rear Wing blue - S10 BX 60 kr 48 kr 1
120945 |Body Shell Prepainted red/blue - S10 BX 150 kr 120 kr 1
120946 |Servo Arm Plastic (4pcs) - S10 70 kr 56 kr 1
120947 |M3x10mm Set Screw (10pcs) - S10 40 kr 32 kr 1
120948 |M3x3mm Set Screw (10pcs) - S10 40 kr 32 kr 1
120949 |M3x18mm Socket Cap Screw (10pcs) - S10 50 kr 40 kr 1
120950 |M3x14mm Socket Cap Screw (10pcs) - S10 50 kr 40 kr 1
120951 |M3x16mm Countersunk Screw (10pcs) - S10 50 kr 40 kr 1
120952 |M3x12mm Countersunk Screw (10pcs) - S10 40 kr 32 kr 1
120953 |M3x10mm Countersunk Screw (10pcs) - S10 40 kr 32 kr 1
120954 |M3x8mm Countersunk Screw (10pcs) - S10 40 kr 32 kr 1
120955 |M3x16mm Button Head Screw (10pcs) - S10 40 kr 32 kr 1
120956 |M3x12mm Button Head Screw (10pcs) - S10 40 kr 32 kr 1
120957 |M3x10mm Button Head Screw (10pcs) - S10 40 kr 32 kr 1
120958 |M3x8mm Button Head Screw (10pcs) - S10 40 kr 32 kr 1
120959 |M3x6mm Button Head Screw (10pcs) - S10 40 kr 32 kr 1
120960 |M4 Lock Nut black (10pcs) - S10 50 kr 40 kr 1
120961 |M4x4mm Set Screw (10pcs) - S10 40 kr 32 kr 1
120962 |Ball Bearing 15x10x4mm (10pcs) - S10 230 kr 184 kr 1
120963 |Ball Bearing 10x5x4mm (10pcs) - S10 230 kr 184 kr 1
120964 |M3 Lock Nut black (10pcs) - S10 50 kr 40 kr 1
120965 ([M2,5 Lock Nut black (10pcs) - S10 50 kr 40 kr 1
120966 |Rear Wing white - S10 BX 60 kr 48 kr 1
120967 |Body Shell Prepainted blue/white - S10 BX 150 kr 120 kr 1
120968 |Rear Wing Crystal Clear - S10 BX 50 kr 40 kr 1
120969 |Body Shell Crystal Clear - S10 BX 140 kr 112 kr 1
120970 |Differential Crown Gear 38T and Sealing - S10 110 kr 88 kr 1
120971 |Differential Case and Sealing - S10 70 kr 56 kr 1
120972 |Differential Gear Set (4pcs) - S10 130 kr 104 kr 1
120973 |Shock Sealing Set (4pcs) - S10 50 kr 40 kr 1




120974 |Shock Shaft and Shock Piston Front/Rear (1set) - S10 180 kr 144 kr 1
120975 |Shock End Set Upper/Lower (8pcs) - S10 60 kr 48 kr 1
120976 |Suspension Ball 5,8mm (10pcs) - S10 50 kr 40 kr 1
120977 |Body Clip (10pcs) - S10 40 kr 32 kr 1
120978 |Upper Shock Mounting Spacer (10 Stk.) - S10 40 kr 32 kr 1
120979 |Wheel Adapter Pins (10pcs) - S10 50 kr 40 kr 1
122006 |VTEC 1/10 Tyre+Inserts front (2pcs) - S10 BX 170 kr 136 kr 1
122007 |VTEC 1/10 Tyre+Inserts rear (2pcs) - S10 BX 180 kr 144 kr 1
122002 |VTEC 1/10 pre-glued tire front (2pcs) - S10 BX 270 kr 216 kr 1
122003 |VTEC 1/10 pre-glued tire rear (2pcs) - S10 BX 320 kr 256 kr 1
122004 |Spoke Wheel front white (2 pcs) - S10 BX 130 kr 104 kr 1
122005 |Spoke Wheel rear white (2 pcs) - S10 BX 140 kr 112 kr 1
Shark-18 Cars 0 kr 0 kr
110100 |LRP S18 Touring Car RTR 3620 kr 2 896 kr 1
110200 |LRP S18 Touring Car Non-RTR (incl. Motor) 2 280 kr 1824 kr 1
110201 |LRP S18 Touring Car Factory Team 4110 kr 3288 kr 1
110300 |[LRP SHARK-18 Buggy RTR 3420kr | 2736kr 1
110400 |LRP SHARK-18 Buggy Non-RTR (incl. Motor) 1980 kr 1584 kr 1
110500 |LRP SHARK-18 Race Monster Truck RTR 3950 kr 3160 kr 1
110600 |LRP SHARK-18 Race Monster Truck Non-RTR (inkl. Motor) 2 280 kr 1824 kr 1
110601 |LRP SHARK-18 Race Monster Truck Factory Team Non-RTR (without Motor) 4230 kr 3384 kr 1
110700 |LRP SHARK-18 ATV RTR 3620 kr 2 896 kr 1
110800 |LRP S18 Monster Truck RTR 3290 kr 2 632 kr 1
111300 |LRP S18 BX Nitro 3780 kr 3024 kr 1
111500 |LRP SHARK-18 Nitro Race Monster Truck RTR 5210 kr 4 168 kr 1
150100 |LRP Rock Crawler 4770 kr 3816 kr 1
Shark-18 Bodies 0 kr 0 kr
112357 |S18 Buggy Body Shell (clear) 220 kr 176 kr 1
112358 |S18 Buggy Body Shell (painted white/red) - pre-cut 310 kr 248 kr 1
112359 |S18 Buggy Body Shell (painted blue/red) - pre-cut 310 kr 248 kr 1
112527 |S18 RMT Body Shell - (painted blue/red/silver) - pre-cut 310 kr 248 kr 1
112530 |Chassis Cover (incl. fix tape) - S18 RMT 80 kr 64 kr 1
112542 |S18 ATV Body Shell Set (painted) 530 kr 424 kr 1
112543 |S18 ATV Body Shell Set (clear) 370 kr 296 kr 1
112552 |S18 RMT Body Shell - (painted red/silver) - pre-cut 340 kr 272 kr 1
112553 |S18 RMT Body Shell - (painted red/white) - pre-cut 340 kr 272 kr 1
112554 |S18 RMT Body Shell - (painted red/black) - pre-cut 340 kr 272 kr 1
112625 |S18 NM Body Shell (clear) - pre-cut 280 kr 224 kr 1
112626 |S18NM Body Shell (painted silver/blue/red) 400 kr 320 kr 1
112939 |[S18 TC Body Shell (clear) 220 kr 176 kr 1
112943 |S18 MT Body Shell (clear) 270 kr 216 kr 1
112944 |S18 MT Body Shell (painted) - pre-cut 400 kr 320 kr 1
112946 |Decal Sheet - S18 BX Nitro 80 kr 64 kr 1
112957 |Rock Crawler Body Shell (clear) 290 kr 232 kr 1
112958 |Rock Crawler Body Shell (painted) - pre-cut 360 kr 288 kr 1
112947 |S18 BX Nitro Body Shell (clear) 200 kr 160 kr 1
112948 |S18 BX Nitro Body Shell (painted) - pre-cut 340 kr 272 kr 1
Shark-18 Decal Sheet 0 kr 0 kr
112525 |Decal Sheet - S18 NM 60 kr 48 kr 1
112526 |Decal Sheet - S18 RMT 2008 Spec 80 kr 64 kr 1




112538 |Decal Sheet - S18 ATV 70 kr 56 kr 1
112941 |Decal Sheet - S18 TC 70 kr 56 kr 1
112945 [Decal Sheet - S18 MT 110 kr 88 kr 1
112949 |Decal Sheet - LRP Rock Crawler 80 kr 64 kr 1
Shark 18 Spare + Option Parts + Rubber Tires 0 kr 0 kr
112348 |Tire Multipin incl. foam (soft) - S18 Buggy 70 kr 56 kr 1
112367 |Tires Fat Block incl. foam (soft) - S18 130 kr 104 kr 1
112368 |Tires Fat Block incl. foam (hard) - S18 130 kr 104 kr 1
112372 |Tires Race Pin incl. foam (hard) - S18 150 kr 120 kr 1
112378 |Tire Multipin incl. foam (hard) - S18 120 kr 96 kr 1
112514 |Tire Monster Block incl. Foam - S18 RMT/NM 130 kr 104 kr 1
112529 |Tire Monster Block incl. foam (hard) - S18 RMT/NM 110 kr 88 kr 1
112710 |Tires ATV Dirt Pin incl. Foam (2 pcs.) - S18 ATV 140 kr 112 kr 1
112712 |Pre-glued tires ATV Dirt Pin (2 pcs.) - S18 ATV 240 kr 192 kr 1
112921 |Slick Rubber tires incl. foam (2St.) - S18 TC 80 kr 64 kr 1
112349 |Dish wheels white (2pcs.) - S18 Buggy 80 kr 64 kr 1
112374 |Front Upper Turnbuckle - S18 Buggy 170 kr 136 kr 1
112460 |Dish wheels blue (2pcs.) - S18 110 kr 88 kr 1
112461 |Dish wheels yellow (2pcs.) - S18 110 kr 88 kr 1
112462 |Dish wheels Carbon-look (2 pcs.) 120 kr 96 kr 1
112463 |Dish wheels chrome (2 pcs.) - S18 130 kr 104 kr 1
112515 |Dish-Wheel white (2pcs) - S18 RMT/NM 110 kr 88 kr 1
112547 |Tire Monster Pin (soft) incl. Foam (2 pcs.) - S18 RMT/NM 130 kr 104 kr 1
112549 |Tire Speed Master 2 (soft) incl. Foam (2pcs.) - S18 RMT/NM 130 kr 104 kr 1
112550 |Pre-Glued Tire Monster Block (2 pcs.) - S18 RMT/NM 260 kr 208 kr 1
112551 |Pre-Glued Tire V-Spoke chrome Monster Block (2 pcs.) - S18 RMT/NM 200 kr 160 kr 1
112561 |Dish Wheels Yellow (2 pcs.) - S18 RMT/NM 90 kr 72 kr 1
112562 |Dish Wheels Carbon-look (2 pcs.) - S18 RMT/NM 100 kr 80 kr 1
112563 |V-Spoke Wheel chrome (2 pcs.) S18 RMT/NM 120 kr 96 kr 1
112564 |V-Spoke Wheel white (2 pcs.) S18 RMT/NM 130 kr 104 kr 1
112565 |V-Spoke Wheel black (2 pcs.) S18 RMT/NM 130 kr 104 kr 1
112566 |V-Spoke Wheel yellow (2 pcs.) S18 RMT/NM 130 kr 104 kr 1
112567 |V-Spoke Wheel carbon-look (2 pcs.) S18 RMT/NM 110 kr 88 kr 1
112568 |V-Spoke Wheel blue (2 pcs.) S18 RMT/NM 130 kr 104 kr 1
112569 |Dish Wheels chrome (2 pcs.) - S18 RMT/NM 130 kr 104 kr 1
112571 |Monster Truck wheel chrome (2 pcs.) S18 RMT/MT 100 kr 80 kr 1
112572 |Monster Truck wheel white (2 pcs.) S18 RMT/MT 80 kr 64 kr 1
112573 |Monster Truck wheel yellow (2 pcs.) S18 RMT/MT 80 kr 64 kr 1
112574 |Monster Truck wheel black (2 pcs.) S18 RMT/MT 80 kr 64 kr 1
112593 |Dish wheels yellow (2pcs.) - S18 TC 70 kr 56 kr 1
112594 |Dish wheels blue (2pcs.) - S18 TC 70 kr 56 kr 1
112595 |Dish wheels chrome (2pcs.) - S18 TC 80 kr 64 kr 1
112596 |Dish wheels Carbon-look (2pcs.) - S18 TC 100 kr 80 kr 1
112711 |ATV wheel chrome (2 pcs.) - S18 ATV 120 kr 96 kr 1
112920 |Dish-Wheels (white) - S18 TC 80 kr 64 kr 1
112950 |Tire Monster Truck incl. Foam (2pcs) - S18 MT 200 kr 160 kr 1
112951 |Dish-Wheel narrow, white (2pcs) - S18 BX 80 kr 64 kr 1
112952 |Front Tire Monster Pin (soft) incl. Foam - S18 BX 100 kr 80 kr 1
112960 |VTEC Foam-Tire 1/18, pre-glued, 25 (2pcs) - S18TC 170 kr 136 kr 1
112961 |VTEC Foam-Tire 1/18, pre-glued, 30 (2pcs) - S18TC 170 kr 136 kr 1




112962 |VTEC Foam-Tire 1/18, pre-glued, 35 (2pcs) - S18TC 170 kr 136 kr 1
112963 |Rock Crawler Tire incl. Foam (2pcs) 270 kr 216 kr 1
112964 |Rock Crawler Spoke-Wheel (2pcs) 140 kr 112 kr 1
112965 |Rock Crawler Spoke-Wheel black (2pcs) 120 kr 96 kr 1
112966 |Rock Crawler Spoke-Wheel Carbon-Look (2pcs) 210 kr 168 kr 1
112038 |Color Antenna blue 5pcs/Set 40 kr 32 kr 1
112039 |Antenna Cover (6pcs/Set) 30 kr 24 kr 1
112066 |Lock Nut Metal 2,6mm (8 pcs.) 40 kr 32 kr 2
112124 |16T Pinion Gear - S18 70 kr 56 kr 1
112134 |O-RING (8PCS/BAG) 40 kr 32 kr 1
112135 |Shock Cap (4pcs/Bag) 100 kr 80 kr 1
112139 |Shock Bladder (4pcs) - S18 Buggy 30 kr 24 kr 1
112145 |2.6x6mm Rounded Head Screw (6pcs) 20 kr 16 kr 2
112146 |Motor Plate Screw (6pcs) 30 kr 24 kr 1
112147 |2.6x8mm Rounded Head TP Screw (6pcs) 20 kr 16 kr 2
112148 |2.6x12mm Rounded Head TP Screw (6pcs) 20 kr 16 kr 2
112150 |2x6mm Countersunk TP Screw (6pcs) 20 kr 16 kr 2
112151 |2.6x10mm Countersunk TP Screw (6pcs) 20 kr 16 kr 2
112152 |2.6x8mm Countersunk Screw (6pcs) 20 kr 16 kr 2
112153 |2MM E-CLIP (16PCS) 20 kr 16 kr 2
112154 |Ball Bearing 6x10mm (8pcs) S18 TC 150 kr 120 kr 1
112165 |13T Pinion Gear - S18 90 kr 72 kr 1
112166 |19T Pinion Gear - S18 90 kr 72 kr 1
112206 |S18 Motor incl. Connectors 24.000RPM 220 kr 176 kr 1
112207 |380 Motor incl. ConnectorHigh-torque 20000RPM - S18 ATV 100 kr 80 kr 1
112218 |S18 tuningmotor incl. Connector 32000RPM 310 kr 248 kr 1
112232 |2mm Lock Nut Aluminium (4 pcs.) 50 kr 40 kr 1
112300 |DIFF. SET 280 kr 224 kr 1
112301 |DIFF. BEVEL/CASE SET 140 kr 112 kr 1
112302 |DIFF. GEAR SET 150 kr 120 kr 1
112303 |Center Driveshaft - S18 70 kr 56 kr 1
112304 |MAIN GEAR (45T) 60 kr 48 kr 1
112305 |DRIVE GEAR SET 60 kr 48 kr 1
112306 |GEAR BOX COVER SET 140 kr 112 kr 1
112307 [MAIN CHASSIS - S18 290 kr 232 kr 1
112308 |MOTOR SETTING PLATE 60 kr 48 kr 1
112309 |MOTOR MOUNT 100 kr 80 kr 1
112310 |BUMPER 70 kr 56 kr 1
112311 |MAIN GEAR COVER 100 kr 80 kr 1
112312 |STEERING POSTS 90 kr 72 kr 1
112313 |STEERING SET 110 kr 88 kr 1
112314 |STEERING SLIDER 60 kr 48 kr 1
112315 |STEERING BALL NUT (6) 100 kr 80 kr 1
112316 |BALL NUT (6) 80 kr 64 kr 1
112317 |Main gear 49T 100 kr 80 kr 1
112318 |STEERING ROD SET 80 kr 64 kr 1
112319 |STEERING POSTS TOP PLATE 60 kr 48 kr 1
112320 |Front Upper Arm Mount - S18 60 kr 48 kr 1
112321 |Body Posts - S18 Buggy 60 kr 48 kr 1
112322 |Front Shock Tower - S18 Buggy 70 kr 56 kr 1




112323 |Shock Standoffs (4pcs) - S18 Buggy 70 kr 56 kr 1
112324 |Front Hinge Support 60 kr 48 kr 1
112325 |Rear Shock Tower - S18 Buggy 70 kr 56 kr 1
112326 |REAR WING MOUNT 140 kr 112 kr 1
112327 |FRONT KNUCKLE ARM 100 kr 80 kr 1
112329 |FRONT UP ARM SET 100 kr 80 kr 1
112330 |2x26.5mm Hinge Pin (4pcs) 40 kr 32 kr 1
112331 |FRONT LOWER ARM SET - S18 Buggy 100 kr 80 kr 1
112332 |REAR UP TUMBUCKLE SET 100 kr 80 kr 1
112333 |REAR HUB CARRIER 100 kr 80 kr 1
112334 |REAR LOWER ARM SET 100 kr 80 kr 1
112335 |Rear Hinge Ball (2pcs) - S18 60 kr 48 kr 1
112336 |2x37.5mm Hinge Pin (4pcs) 40 kr 32 kr 1
112337 |REAR HINGE PLATE 70 kr 56 kr 1
112338 |[REAR HINGE STOPPER 70 kr 56 kr 1
112339 |Front Shock Set - S18 Buggy 260 kr 208 kr 1
112340 |Rear Shock Set - S18 Buggy 260 kr 208 kr 1
112341 |Front Shock Shaft - S18 Buggy 40 kr 32 kr 1
112342 |Rear Shock Shaft - S18 Buggy 40 kr 32 kr 1
112343 |Front Shock Spring (black) - S18 Buggy 40 kr 32 kr 1
112344 |Rear Shock Spring (black) - S18 Buggy 40 kr 32 kr 1
112345 |Susp. Arm Adjustment Spacer (6 St.) - S18 70 kr 56 kr 1
112346 |Rear Wing - S18 140 kr 112 kr 1
112347 |BATTERY TRAY/POST 100 kr 80 kr 1
112350 |Wheel Adapters (4pcs) - S18 70 kr 56 kr 1
112351 |Servo Saver Set - S18 100 kr 80 kr 1
112352 |8x12mm BALL BEARING (6) 170 kr 136 kr 1
112353 |[2x12mm SCREW 20 kr 16 kr 2
112354 |2x6mm TP SCREW 20 kr 16 kr 2
112355 |3MM E-CLIP (16pcs.) 20 kr 16 kr 2
112356 |2MM PIN 20 kr 16 kr 2
112360 |Spring Cup S18 RMT/MT/ATV (4 pcs.) 60 kr 48 kr 1
112361 |REAR RIVOT BALLS 80 kr 64 kr 1
112362 |Motor mount blue 120 kr 96 kr 1
112363 |2x16 Screw (6 pcs.) 40 kr 32 kr 2
112364 |Steering Posts Top Plate (chrome) - S18 MT 100 kr 80 kr 1
112365 |FRONT SHOCK SPRING (WHITE) SOFT 100 kr 80 kr 1
112366 |Rear Shock Spring (white/soft) - S18 Buggy 100 kr 80 kr 1
112369 |Front Shock Spring (green/hard) - S18 Buggy 100 kr 80 kr 1
112370 |Rear Shock Spring (green/hard) - S18 Buggy 100 kr 80 kr 1
112373 |Alum. Upper Shock Mount - S18 180 kr 144 kr 1
112375 |Rear Upper Turnbuckle - S18 Buggy 170 kr 136 kr 1
112376 |Adjustable Turnbuckle Set 220 kr 176 kr 1
112377 |Steering Posts Top Plate (black) - S18 TC 80 kr 64 kr 1
112379 |CARBON MAIN CHASSIS 550 kr 440 kr 1
112380 |CARBON COVER SET 220 kr 176 kr 1
112381 |CARBON REAR HUB CARRIER 220 kr 176 kr 1
112382 |CARBON MAIN GEAR COVER 220 kr 176 kr 1
112383 |CARBON DIFF. COVER 220 kr 176 kr 1
112384 |Carbon Lower Upper Arm Mount - S18 220 kr 176 kr 1




112385 |Carbon Lower Front Arm Mount - S18 160 kr 128 kr 1
112386 |CARBON STEERING SERVO HOLD SET 320 kr 256 kr 1
112387 |CARBON BATTERY TRAY ALUM. POSTS 400 kr 320 kr 1
112388 |CARBON STEERING DRAG LINK 70 kr 56 kr 1
112389 |CARBON FRONT UPPER PLATE 110 kr 88 kr 1
112390 |Carbon Front Shock Tower - S18 Buggy 130 kr 104 kr 1
112391 |Carbon Rear Shock Tower - S18 Buggy 130 kr 104 kr 1
112392 |ALUM. FRONT HINGE SUPPORT 280 kr 224 kr 1
112393 |Rear Aluminium Hinge Plate 3 - S18 220 kr 176 kr 1
112396 |ALUM. FRONT KNUCKLE ARM 840 kr 672 kr 1
112397 |ALUM. REAR HINGE BALL 70 kr 56 kr 1
112398 |Alum. Wheel Adapters (4pcs) - S18 290 kr 232 kr 1
112399 |Alum. Rear Hinge Pin Brace - S18 300 kr 240 kr 1
112400 |Alum. Body Posts - S18 Buggy 220 kr 176 kr 1
112401 |Alum. Steering Post w/Bearings- S18 430 kr 344 kr 1
112403 |Front Sway Bar Set - S18 280 kr 224 kr 1
112404 |Rear Sway Bar Set - S18 280 kr 224 kr 1
112406 |Ball Differential Set (1pc) - S18 510 kr 408 kr 1
112409 |Alum. Shock Set Front - S18 Buggy 460 kr 368 kr 1
112410 |Alum. Shock Set Rear - S18 Buggy 460 kr 368 kr 1
112416 |11T Pinion Gear - S18 100 kr 80 kr 1
112417 |Carbon Center Driveshaft S18 250 kr 200 kr 1
112418 |Aluminium Screw Set (56 pcs.) - S18 610 kr 488 kr 1
112439 |2,6x6mm aluminium Washer (8 pcs.) 30 kr 24 kr 2
112451 |Rear Wing (yellow) 190 kr 152 kr 1
112452 |Rear Wing (Carbon texture) 200 kr 160 kr 1
112453 |Rear Wing (chrome) 180 kr 144 kr 1
112492 |Threaded drive shafts - S18 (4 pcs.) 210 kr 168 kr 1
112481 |11T Brushless Pinion Gear - S18 90 kr 72 kr 1
112482 |12T Brushless Pinion Gear - S18 90 kr 72 kr 1
112483 |13T Brushless Pinion Gear - S18 90 kr 72 kr 1
112484 |14T Brushless Pinion Gear - S18 90 kr 72 kr 1
112485 |15T Brushless Pinion Gear - S18 90 kr 72 kr 1
112486 |16T Brushless Pinion Gear - S18 90 kr 72 kr 1
112487 |17T Brushless Pinion Gear - S18 90 kr 72 kr 1
112488 |18T Brushless Pinion Gear - S18 90 kr 72 kr 1
112489 |19T Brushless Pinion Gear - S18 90 kr 72 kr 1
112490 |20T Brushless Pinion Gear - S18 90 kr 72 kr 1
112491 |21T Brushless Pinion Gear - S18 90 kr 72 kr 1
112493 |12T Pinion Gear - S18 100 kr 80 kr 1
112494 |14T Pinion Gear - S18 100 kr 80 kr 1
112495 |15T Pinion Gear - S18 100 kr 80 kr 1
112496 |17T Pinion Gear - S18 100 kr 80 kr 1
112497 |18T Pinion Gear - S18 100 kr 80 kr 1
112498 |20T Pinion Gear - S18 100 kr 80 kr 1
112499 |21T Pinion Gear - S18 100 kr 80 kr 1
112500 |Upper Shock Standoffs (4pcs.) 70 kr 56 kr 1
112501 |Front Shock Tower - S18 RMT 90 kr 72 kr 1
112502 |Rear Shock Tower - S18 RMT 90 kr 72 kr 1
112503 |Front Knuckle Arm (2pcs) - S18 RMT 170 kr 136 kr 1




112504 |Front Upper Arm Set - S18 RMT 90 kr 72 kr 1
112505 |Front Lower Arm Set - S18 RMT 130 kr 104 kr 1
112506 |Rear Lower Arm Set - S18 RMT 130 kr 104 kr 1
112507 |Turnbuckles rear (2pcs.) - S18 RMT 90 kr 72 kr 1
112508 |Shock Set (2 pcs.) - S18 RMT 320 kr 256 kr 1
112509 |Shock Cap - S18 RMT (4pcs) 120 kr 96 kr 1
112510 |Shock Bladder (4pcs) - S18 RMT 40 kr 32 kr 1
112511 |Shock Spring S18 RMT/NM - Black 40 kr 32 kr 1
112513 |Steering Rod Set - S18 RMT 70 kr 56 kr 1
112516 |Front Pivot Balls (4pcs) 130 kr 104 kr 1
112517 |2x14mm Screw (6pcs.) 30 kr 24 kr 2
112518 |Body Post Set S18 RMT 100 kr 80 kr 1
112520 |S18 RMT Body Shell (clear) - pre-cut 280 kr 224 kr 1
112521 |S18 RMT Body Shell lackiert (Blue/Red/Silver) - pre-cut 400 kr 320 kr 1
112523 |Aluminium Knuckle Arms (L & R) - S18 RMT/NM 790 kr 632 kr 1
112524 |Aluminium Pivot Ball Set Screw (4 pcs.) - S18 RMT/NM 70 kr 56 kr 1
112528 |Adj. Tie Rod Set - S18 RMT/NM 210 kr 168 kr 1
112532 |Carbon Rear Shock Tower - S18 RMT/NM 170 kr 136 kr 1
112533 |Adj. Rear Upper Turnbuckle Set - S18 RMT/NM 170 kr 136 kr 1
112534 |Titan Pivot Balls (2 pcs.) - S18 RMT/NM 220 kr 176 kr 1
112535 |High Performance Shocks - S18 RMT/NM 700 kr 560 kr 1
112536 |Shock Spring (white/soft) - S18 RMT/NM 100 kr 80 kr 1
112537 |Shock Spring (green/hard) - S18 RMT/NM 100 kr 80 kr 1
112539 |Shock Spring ATV black/hard 80 kr 64 kr 1
112541 |Threaded CVD Drive Shafts - S18 RMT/NM/ATV 570 kr 456 kr 1
112544 |Body Post Set - S18 ATV 70 kr 56 kr 1
112545 |Threaded CVD Drive Shafts - S18 560 kr 448 kr 1
112548 |Threaded drive shafts - S18 RMT/NM (4 pcs.) 230 kr 184 kr 1
112580 |Ball Bearing 4x7mm (2pcs) 60 kr 48 kr 1
112581 |Diff. Ball Set (12pcsx2mm / 7pcsx1,6mm) 60 kr 48 kr 1
112582 |Diff. Ring Set 50 kr 40 kr 1
112583 |Diff. Thrust Washer Set 140 kr 112 kr 1
112584 |Ball-Differential Housing 200 kr 160 kr 1
112585 |Ball-Differential Screw 60 kr 48 kr 1
112586 |Ball-Differential Gear 40 kr 32 kr 1
112600 |Steering Rod Set - S18 NM 60 kr 48 kr 1
112601 |Lower Gear Box Body - S18 NM 160 kr 128 kr 1
112602 |Main Gear 55T - S18 NM 70 kr 56 kr 1
112603 |Inner Steering Arms With Spring - S18 NM 110 kr 88 kr 1
112604 |Receiver-/Batterybox Set - S18 NM 180 kr 144 kr 1
112605 |Steering Servo Mount - S18 NM 100 kr 80 kr 1
112606 |[35cc Fuel Tank - S18 NM 250 kr 200 kr 1
112607 |Brake Mount Set - S18 NM 100 kr 80 kr 1
112608 |Aluminium Servo Saver Mount - S18 NM 40 kr 32 kr 1
112609 |Steering Posts (2 pcs.) - S18 NM 100 kr 80 kr 1
112610 |Brake Post - S18 NM 60 kr 48 kr 1
112611 |Brake Post Linkage - S18 NM 30 kr 24 kr 2
112612 |Brake Shoe Set With Brake Disc - S18 NM 130 kr 104 kr 1
112614 |Throttle and Brake Linkage Set - S18 NM 140 kr 112 kr 1
112615 |Clutch Springs Std. (6 pcs.) - S18 NM 40 kr 32 kr 1




112616 |Clutch Shoe Std. (2 pcs.) - S18 NM 40 kr 32 kr 1
112617 |Exhaust Pipe Holder Set - S18 NM 40 kr 32 kr 1
112618 |[Center Shaft - S18 NM 80 kr 64 kr 1
112619 |Engine Flywheel With Collar - S18 NM 100 kr 80 kr 1
112620 [Clutch Pilot Shaft - S18 NM 50 kr 40 kr 1
112621 |Clutch Bell 13T - S18 NM 140 kr 112 kr 1
112622 |Receiver Switch Set - S18 NM 90 kr 72 kr 1
112623 |Receiver Batterybox AAA - S18 NM 50 kr 40 kr 1
112624 |Aluminium Chassis Blue - S18 NM 260 kr 208 kr 1
112627 |Plastic Cover battery- and receiver box - S18 NM 50 kr 40 kr 1
112628 |Clutch Bell 14T - S18NM 140 kr 112 kr 1
112629 |Clutch Bell 15T - S18NM 140 kr 112 kr 1
112630 |Exhaust Coupler - S18 NM 50 kr 40 kr 1
112632 |Lock Nut Metal 2mm (4 pcs.) 40 kr 32 kr 1
112633 |Servo Mount Screw (6 pcs.) 30 kr 24 kr 2
112634 |Set Screw M3x3mm (6 pcs.) 30 kr 24 kr 2
112635 |Ball Bearing 2x5mm (2 pcs.) - S18 NM 60 kr 48 kr 1
112636 |Screw 2.6x22mm (6 pcs.) 30 kr 24 kr 2
112637 |Pin 2x12mm (6 pcs.) 30 kr 24 kr 2
112638 |Countersunk Screw 3x8mm (6 pcs.) 30 kr 24 kr 2
112639 |Set Screw M4x3mm (6 pcs,) 30 kr 24 kr 2
112640 |Fuel Tube (1m) 60 kr 48 kr 1
112641 |Servo Plates (2 pcs.) - S18 NM 40 kr 32 kr 1
112642 |Buggy Pivot-ball Conversion Kit front - S18 320 kr 256 kr 1
112652 |2x8mm Rounded Head Screw 40 kr 32 kr 1
112653 |2x10mm Rounded Head Screw 40 kr 32 kr 1
112654 |1,5mm E-Clip (16Stk.) 40 kr 32 kr 1
112656 |Shock Spring Adjustment Spacer 50 kr 40 kr 1
112657 |Motor Adjustment Plate Set - S18 80 kr 64 kr 1
112658 |Chrome Sideplates (2pcs) - S18 MT 230 kr 184 kr 1
112659 |Front Upper Pivot-Ball Arm-Set - S18 80 kr 64 kr 1
112660 |Front Lower Pivot-Ball Arm-Set - S18 80 kr 64 kr 1
112700 |Alum. Wheel Adapters (4pcs) - S18 270 kr 216 kr 1
112701 |Threaded CVD Drive Shafts (2pcs)- S18 TC 400 kr 320 kr 1
112702 |High Performance Shocks (2pcs) - S18 TC 370 kr 296 kr 1
112703 |Front One-Way - S18 TC 470 kr 376 kr 1
112704 |Alum. Rear Hub Carrier 2(pcs) - S18 TC 600 kr 480 kr 1
112705 |Front Sway Bar Set - S18 TC 240 kr 192 kr 1
112706 |Rear Sway Bar Set- S18 TC 240 kr 192 kr 1
112707 |Alum. Upper Shock Mount - S18 TC 140 kr 112 kr 1
112708 |Carbon Front Shock Tower - S18 TC 150 kr 120 kr 1
112709 |Carbon Rear Shock Tower - S18 TC 160 kr 128 kr 1
112713 |Adjustable Front Turnbuckle Set - S18 TC 200 kr 160 kr 1
112714 |Shock Spring (white/soft) - S18 TC 80 kr 64 kr 1
112715 |Shock Spring (green/hard) - S18 TC 80 kr 64 kr 1
112716 |Adjustable Rear Turnbuckle Set - S18 TC 160 kr 128 kr 1
112717 |Carbon Plate Chassis Conversion Kit - S18 Line 1480 kr 1184 kr 1
112718 |Shock Shafts Tuning-Shocks gold (2pcs) - RMT 110 kr 88 kr 1
112719 |Shock Shafts Front Tuning-Shocks gold (2pcs) - RMT 150 kr 120 kr 1
112720 |Front Upper Arm Set Carbon-Look - S18 RMT 130 kr 104 kr 1




112721 |Front Lower Arm Set Carbon-Look - S18 RMT 130 kr 104 kr 1
112722 |Rear Lower Arm Set Carbon-Look - S18 RMT 120 kr 96 kr 1
112723 |Ball Cup rear upper arm Carbon-Look (4pcs) - S18 RMT 130 kr 104 kr 1
112724 |Threaded drive shafts - S18 TC (2 pcs.) 150 kr 120 kr 1
112870 |Steering Knuckle (2pcs) - Rock Crawler 60 kr 48 kr 1
112900 |Drive Shaft (4pcs) - S18 TC 140 kr 112 kr 1
112901 |Front Knuckles (L+R) - S18 TC 140 kr 112 kr 1
112902 |Rear body post mount - S18 TC 80 kr 64 kr 1
112903 |Steering Rod Set (3pcs) - S18 TC 80 kr 64 kr 1
112904 |Front upper arm set - S18 TC 100 kr 80 kr 1
112905 |Front lower arm set - S18 TC 100 kr 80 kr 1
112906 |Rear lower arm set - S18 TC 100 kr 80 kr 1
112907 |Rear Hub Carrier (2pcs.) - S18 TC 100 kr 80 kr 1
112908 |Sway bar mount front - S18 TC 70 kr 56 kr 1
112909 |Shock body (2 pcs.) - S18 TC 80 kr 64 kr 1
112910 |Spring Cup & upper Spring spacer (4pcs) - S18 TC 70 kr 56 kr 1
112911 |Shock Piston & Troop-limiter (4 St.) - S18 TC 80 kr 64 kr 1
112912 |Shock Seal holder (4pcs.) - S18 TC 80 kr 64 kr 1
112913 |Shock Mount up+down (4pcs) - S18 TC 80 kr 64 kr 1
112914 |Body Post (4pcs) - S18 TC 80 kr 64 kr 1
112915 |Ball Cup rear upper arm (4pcs) - S18 TC 80 kr 64 kr 1
112916 |Inner upper rear arm mount (2pcs) - S18 TC 100 kr 80 kr 1
112917 |Bumper + foam - S18 TC 110 kr 88 kr 1
112918 |Wheel Adapters (4pcs) - S18 TC 60 kr 48 kr 1
112919 |Adjust Spacer (4pcs) - S18 TC 50 kr 40 kr 1
112923 |Shocks (2pcs) - S18 TC 240 kr 192 kr 1
112924 |Shock Shafts (4pcs) - S18 TC 50 kr 40 kr 1
112925 |Shock Spings (black) (2pcs) - S18 TC 60 kr 48 kr 1
112926 |Front Shock Tower - S18 TC 70 kr 56 kr 1
112927 |Rear Shock Tower - S18 TC 70 kr 56 kr 1
112929 |Pin 2x16.5mm (4pcs) - S18 TC 40 kr 32 kr 1
112930 |Pivot Ball (4pcs) - S18 TC 110 kr 88 kr 1
112931 |Pivot Ball Set Screw (4pcs) - S18 TC 60 kr 48 kr 1
112933 |Ball Bearing 5x8mm (8pcs) - S18 TC 120 kr 96 kr 1
112935 |Screw 3x12mm (6pcs) 40 kr 32 kr 1
112936 |Washer 2x5mm (6pcs) 40 kr 32 kr 1
112937 |Set Screw 3x15mm) (6pcs) - S18 TC 40 kr 32 kr 1
112938 |Set Screw 3x8mm (6pcs) - S18 TC 40 kr 32 kr 1
112971 |10x15mm Bushing (6pcs) - Rock Crawler 70 kr 56 kr 1
112972 |5x11mm Bushing (6pcs) - Rock Crawler 40 kr 32 kr 1
112973 |3x6mm Bushing (6pcs) - Rock Crawler 60 kr 48 kr 1
112974 |4x10mm Washer (20pcs) 20 kr 16 kr 1
112975 |2.6x6mm Washer (12pcs) 20 kr 16 kr 1
112976 |5.8mm Ball (10pcs) - Rock Crawler 40 kr 32 kr 1
112977 |2x11mm Shaft Rigid Axle (6pcs) - Rock Crawler 30 kr 24 kr 1
112978 |3x30mm Round Head Screw (12pcs) 30 kr 24 kr 1
112979 |3x10mm Round Head Screw (12pcs) 20 kr 16 kr 1
112980 |3x8mm Round Head Screw (12pcs) 30 kr 24 kr 1
112981 |2.6x20mm Round Head Screw (12pcs) 20 kr 16 kr 1
112982 |2.6x12mm Round Head Screw (12pcs) 20 kr 16 kr 1




112983 |3x12mm Round Head TP Screw (12pcs) 20 kr 16 kr 1
112984 |2.6x10mm Round Head TP Screw (12pcs) 20 kr 16 kr 1
112985 |3x10mm Flat Head Screw (12pcs) 20 kr 16 kr 1
112986 |3x12mm Flat Head Screw (12pcs) 20 kr 16 kr 1
112987 |3x15mm Flat Head Screw (12pcs) 20 kr 16 kr 1
112988 |3x18mm Flat Head Screw (12pcs) 20 kr 16 kr 1
112989 |E-Clip 4mm (12pcs) 20 kr 16 kr 1
112990 |3x10mm Set Screw (12pcs) 20 kr 16 kr 1
112991 |Half-Theaded Countersunk Screw (12pcs) 20 kr 16 kr 1
112992 |M4 Lock Nut Metal (12pcs) 20 kr 16 kr 1
112993 |M3 Lock Nut Metal (20pcs) 20 kr 16 kr 1
112994 |Rock Crawler Motor incl. Connector 5000RPM 160 kr 128 kr 1
112995 |Shock Set (2pcs) - Rock Crawler 200 kr 160 kr 1
112996 |Shock End (4pcs) - Rock Crawler 60 kr 48 kr 1
112997 |Upper Shock Mounting (4pcs) - Rock Crawler 70 kr 56 kr 1
112998 |Lower Shock Mounting (2pcs) - Rock Crawler 90 kr 72 kr 1
112999 |Servo Saver Set - Rock Crawler 90 kr 72 kr 1
113000 |Washer Shock Mounting (4pcs) - Rock Crawler 50 kr 40 kr 1
113001 |Sleeve Shock Mounting (4pcs) - Rock Crawler 50 kr 40 kr 1
113002 |Axle/Chassis Strut A (4pcs) - Rock Crawler 60 kr 48 kr 1
113003 |Axle/Chassis Strut B (4pcs) - Rock Crawler 60 kr 48 kr 1
113004 |Steering Strut C (2pcs) - Rock Crawler 50 kr 40 kr 1
113005 |Steering Strut D (2pcs) - Rock Crawler 50 kr 40 kr 1
113006 |Sleeve Axle/Chassis Strut (6pcs) - Rock Crawler 50 kr 40 kr 1
113007 |Spacer Small Axle/Chassis Strut (6pcs) - Rock Crawler 60 kr 48 kr 1
113008 |Spacer Big Axle/Chassis Strut (4pcs) - Rock Crawler 50 kr 40 kr 1
113009 |Gearbox Sleeve (4pcs) - Rock Crawler 50 kr 40 kr 1
113010 |Pin Spur Gear (2pcs) - Rock Crawler 70 kr 56 kr 1
113011 |Pin 36T Gear (2pcs) - Rock Crawler 30 kr 24 kr 1
113012 |Pin 34T Gear (2pcs) - Rock Crawler 40 kr 32 kr 1
113013 |Spur Gear 45T - Rock Crawler 60 kr 48 kr 1
113014 |Gear 36T - Rock Crawler 60 kr 48 kr 1
113015 |Gear 34T - Rock Crawler 60 kr 48 kr 1
113016 |Gearbox Housing - Rock Crawler 230 kr 184 kr 1
113017 |Gearbox Outdrive (2pcs) - Rock Crawler 60 kr 48 kr 1
113018 |Wheel Axle (2pcs) - Rock Crawler 70 kr 56 kr 1
113019 |Dogbone (2pcs) - Rock Crawler 80 kr 64 kr 1
113020 |Motor Mount (2pcs) - Rock Crawler 60 kr 48 kr 1
113021 |Spacer Steering - Rock Crawler 30 kr 24 kr 1
113022 |Wheel Adapter (4pcs) - Rock Crawler 60 kr 48 kr 1
113023 |Servo Mount - Rock Crawler 60 kr 48 kr 1
113024 |Strut Mounting Plate - Rock Crawler 60 kr 48 kr 1
113025 |Batterie Tray - Rock Crawler 120 kr 96 kr 1
113026 |Batterie Holder Plate - Rock Crawler 60 kr 48 kr 1
113027 |Vertical Chassis Sideplate (blue) - Rock Crawler 90 kr 72 kr 1
113028 |Bumper - Rock Crawler 70 kr 56 kr 1
113029 |Body Mounting Post (2pcs) - Rock Crawler 50 kr 40 kr 1
113030 |Double-Connector Receiver/Servo - Rock Crawler 120 kr 96 kr 1
113031 |Shock Plastic-parts Set (ball-cup, springplate, clips) 4pcs S18 110 kr 88 kr 1
113032 |Shock Plastic-parts Set (ball-cup, springplate, clips) 4pcs S18 RM/NM/MT/ATV 110 kr 88 kr 1




113033 |Electronic Speed Control (ESC) - Rock Crawler 1700 kr 1 360 kr 1
113034 |Ball Cup rear upper arm - S18 TC Factory Team 50 kr 40 kr 1
113100 |Batterie Tray Carbon-Look -Rock Crawler 520 kr 416 kr 1
113101 |Vertical Chassis Sideplate Carbon - Rock Crawler 1 300 kr 1 040 kr 1
113102 |Alum. Axle/Chassis Strut A (4pcs) - Rock Crawler 190 kr 152 kr 1
113103 |Alum. Axle/Chassis Strut B (4pcs) - Rock Crawler 190 kr 152 kr 1
113104 |Alum. Steering Strut C (2pcs) - Rock Crawler 110 kr 88 kr 1
113105 |Alum. Steering Strut D (2pcs) - Rock Crawler 110 kr 88 kr 1
113106 |Gearbox Housing Carbon-Look - Rock Crawler 390 kr 312 kr 1
113107 |Radio Tray Carbon Look - Rock Crawler 240 kr 192 kr 1
113108 |Strut Mounting Plate Carbon Look - Rock Crawler 100 kr 80 kr 1
113109 |Strap for Carbon Battery Mount - Rock Crawler 500 kr 400 kr 1
113110 |Bumper Carbon Look - Rock Crawler 150 kr 120 kr 1
113111 |Alum. Upper Shock Mounting (4pcs) - Rock Crawler 130 kr 104 kr 1
113113 |Alum. Wheel Adapter (4pcs) - Rock Crawler 290 kr 232 kr 1
113114 |Alum. Steering Knuckle (2pcs) - Rock Crawler 550 kr 440 kr 1
113115 |Metal Gearbox Outdrive (2pcs) - Rock Crawler 150 kr 120 kr 1
113116 |Alum. Motor Mount (2pcs) - Rock Crawler 130 kr 104 kr 1
113119 |Metal Gear 34T - Rock Crawler 160 kr 128 kr 1
113120 |Alum. Bumper Post - Rock Crawler 100 kr 80 kr 1
113121 |Metal Main Gear 45T - Rock Crawler 70 kr 56 kr 1
113122 |Shock Spring soft (white) -Rock Crawler 90 kr 72 kr 1
113123 |Shock spring hard (yellow)-Rock Crawler 90 kr 72 kr 1
113125 |High Performance Shocks - Rock Crawler 650 kr 520 kr 1
113126 |Metal Gear 36T - Rock Crawler 160 kr 128 kr 1
113127 |CVD Shafts - Rock Crawler 420 kr 336 kr 1
119030 |Body clips (6pcs) 30 kr 24 kr 1

Electronic speed controls

Brushless Forward/Brake/Reverse ESC

80100 |A.l. Brushless Reverse 1 250 kr 1000 kr 1
80150 |A.l. Brushless Pro Reverse 1950 kr 1560 kr 1
80400 |SPX Brushless Super Reverse 2 470 kr 1976 kr 1
80410 |Crawler Brushless Reverse 1850 kr 1480 kr 1
80450 |SPX Brushless Bullet Reverse 3280 kr 2624 kr 1
80460 |Ultimo Drift Brushless 2 230 kr 1784 kr 1
86500 |Nexxt 4X Brushless Sensorless 1 600 kr 1280 kr 1
83330 |Truck Brushless Reverse 2970 kr 2 376 kr 1
Brushless Forward/Brake
80700 |Sphere Competition Brushless + Brushed 2007 Edition 2 470 kr 1976 kr 1
80750 |Sphere Competition TC-Spec Brushless + Brushed 3560 kr 2 848 kr 1
80780 |SPX8 Competition Brushless 3430 kr 2 744 kr 1
80900 |[SXX Competition Brushless Speed-Control 4 320 kr 3 456 kr 1
80910 |SXX StockSpec Brushless Speed-Control 4890 kr 3912 kr 1
80950 |[SXX TC spec Brushless Speed-Control 4890 kr 3912 kr 1
Brushed Forward/Brake/Reverse
83010 |A.l. Runner Reverse 700 kr 560 kr 1
83060 |A.l. Runner-Plus Reverse 870 kr 696 kr 1
83080 |A.l. Runner Bullet Reverse 960 kr 768 kr 1
83200 |A.l. Super Reverse Digital 740 kr 592 kr 1
83250 |Automatic Pro Reverse Digital 830 kr 664 kr 1




83370 |A.l. Automatic Bullet Reverse Digital 1 020 kr 816 kr 1
Brushed Forward/Brake
83710 |[IPC V3.1 Generation+ Digital 670 kr 536 kr 1
83720 |IPC V4.1 Generation+ Digital 790 kr 632 kr 1
83730 |IPC V5.1 Generation+ Digital 950 kr 760 kr 1
80800 |[IPC V8.1 Generation+ Digital 1230 kr 984 kr 1
84110 |Quantum Reverse 2 Super digital 1190 kr 952 kr 1
84210 |Quantum Reverse 2 Pro digital 1 350 kr 1080 kr 1
84310 |Quantum Reverse 2 Bullet digital 1590 kr 1272 kr 1
84410 |Quantum Super Sport 2 Digital 920 kr 736 kr 1
84510 |Quantum Pro Sport 2 Digital 1 050 kr 840 kr 1
84610 |Quantum Bullet Sport 2 Digital 1230 kr 984 kr 1
80830 |QC-3digital 1240 kr 992 kr 1
Brushed Flight
83700 |Stratos Heli-Star 35A-5-10 BEC 1360 kr 1088 kr 1
85040 |Elite Aero 27A BEC 870 kr 696 kr 1
85370 |Elite Aero 70A OPTO 1150 kr 920 kr 1
Accessories for electronic speed controllers
80135 |BEC Stabilising Capacitor 80 kr 64 kr 1
81906 |Brushless Powerwire Set 3.3mm 100 kr 80 kr 1
81907 |3.3mm /12awg Powerwire black (1.0m) 80 kr 64 kr 1
81908 |3.3mm /12awg Powerwire blue (1.0m) 80 kr 64 kr 1
82505 |Powerwire Set Sphere 160 kr 128 kr 1
82511 |Brushless Low-profile Option Fan 90 kr 72 kr 1
82530 |SXX Power-Capacitor WorksTeam 3.7-4.8V 280 kr 224 kr 1
82531 |SXX Power-Capacitor WorksTeam 6.0-7.4V 280 kr 224 kr 1
83830 |QC-3 Worlds Option Kit 120 kr 96 kr 1

Transmitter and reciever

87000 |C3-STX Pro 2.4GHz F.H.S.S. 100mW Radio Set 1830 kr 1464 kr 1
87200 |C3-RX 2.4Ghz F.H.S.S Receiver 1 040 kr 832 kr 1
87010 |A2-STX Pro 2.4GHz Radio Set 810 kr 648 kr 1
87210 |A2-RX Pro 2.4GHz Receiver 430 kr 344 kr 1
87270 |Phaser Competition 27Mhz 2220 kr 1776 kr 1
87400 |Phaser Competition 40Mhz 2220 kr 1776 kr 1
88350 |Phaser Sport 35MHz FM 800 kr 640 kr 1

Electric motors

Vector 370 Micro Brushless Modified

50240 |Vector Micro BL Modified, 6T/7900kV 640 kr 512 kr 1
50250 |Vector Micro BL Modified, 7T/6900kV 640 kr 512 kr 1
50260 |Vector Micro BL Modified, 8T/5600kV 640 kr 512 kr 1
Vector X12 Brushless Modified 0 kr
50642 |Vector X12 Brushless Modified - 9.5T 1 600 kr 1280 kr 1
50652 |Vector X12 Brushless Modified - 8.5T 1600 kr 1280 kr 1
50653 |Vector X12 Brushless Modified 8.5T - Octa-Wind 1 600 kr 1280 kr 1
50662 |Vector X12 Brushless Modified - 7.5T 1600 kr 1280 kr 1
50672 |Vector X12 Brushless Modified - 6.5T 1 600 kr 1280 kr 1
50673 |Vector X12 Brushless Modified 6.5T - Octa-Wind 1600 kr 1280 kr 1
50682 |Vector X12 Brushless Modified - 5.5T 1 600 kr 1280 kr 1
50683 |Vector X12 Brushless Modified 5.5T - Octa-Wind 1600 kr 1280 kr 1
50687 |Vector X12 Brushless Modified - 5.0T 1620 kr 1296 kr 1




50688 |Vector X12 Brushless Modified 5.0T - Octa-Wind 1620 kr 1296 kr 1
50692 |Vector X12 Brushless Modified - 4.5T 1 600 kr 1280 kr 1
50693 |Vector X12 Brushless Modified 4.5T - Octa-Wind 1 600 kr 1280 kr 1
50702 |Vector X12 Brushless Modified - 4.0T 1620 kr 1296 kr 1
50703 |Vector X12 Brushless Modified 4.0T - Octa-Wind 1620 kr 1296 kr 1
50712 |Vector X12 Brushless Modified - 3.5T 1 600 kr 1280 kr 1
50713 |Vector X12 Brushless Modified 3.5T - Octa-Wind 1 600 kr 1280 kr 1
50722 |Vector X12 Brushless Modified - 3.0T 1620 kr 1296 kr 1
Brushless Stock Spec
50470 |Eraser 13.5T Stock Spec. 820 kr 656 kr 1
50810 |Vector X11 8.5 T Brushless Stock Spec 1230 kr 984 kr 1
50820 |Vector X11 9.5 T Brushless Stock Spec 1230 kr 984 kr 1
50832 |Vector X12 Brushless StockSpec 10.5T 1 450 kr 1160 kr 1
50842 |Vector X12 Brushless StockSpec 13.5T 1450 kr 1160 kr 1
50852 |Vector X12 Brushless StockSpec 17.5T 1 450 kr 1160 kr 1
50862 |Vector X12 Brushless StockSpec 21.5T 1450 kr 1160 kr 1
Vector 8 Brushless Modified
50910 |Vector8 Brushless Modified 2.500kV 2180 kr 1744 kr 1
50920 |Vector8 Brushless Modified 2.800kV 2180 kr 1744 kr 1
Eraser Brushless Sports Modified
50350 |Eraser Brushless Sports Modified 9,5 Turns 610 kr 488 kr 1
50360 |Eraser Brushless Sports Modified 10,5 Turns 610 kr 488 kr 1
50370 |Eraser Brushless Sports Modified 13,5 Turns 610 kr 488 kr 1
50380 |Eraser Brushless Sports Modified 15,5 Turns 610 kr 488 kr 1
Special Brushless
50483 |Ultimo Drift Brushless Motor, Type 1 620 kr 496 kr 1
50484 |Ultimo Drift Brushless Motor, Type 2 780 kr 624 kr 1
50487 |Truck Puller Brushless Motor 820 kr 656 kr 1
50495 |Crawler Brushless 21.5 Turns 670 kr 536 kr 1
50496 |Crawler Brushless 18.5 Turns 610 kr 488 kr 1
50821 |Vector X11 Brushless SHORT COURSE Modified 9.5T 1230 kr 984 kr 1
Fusion Micro Brushed Modified
52030 |Fusion Micro Modified 380 HT 350 kr 280 kr 1
52040 |Fusion Micro Modified 380 HS 350 kr 280 kr 1
52010 |Fusion 2009 HS 370 Micro Modified 230 kr 184 kr 1
52015 |Fusion 2009 HT 370 Micro Modified 230 kr 184 kr 1
V10 SPEC4 Brushed
57093 |V10 SPEC4 9x2 350 kr 280 kr 1
57103 |V10 SPEC4 10x2 350 kr 280 kr 1
57123 |V10 SPEC4 12x2 350 kr 280 kr 1
57143 |V10 SPEC4 14x2 350 kr 280 kr 1
57173 |V10 SPEC4 17x2 350 kr 280 kr 1
57193 |V10 SPEC4 19x2 350 kr 280 kr 1
GT3 Turbo Brushed
58103 |GT3 Turbo 10x2 250 kr 200 kr 1
58123 |GT3 Turbo 12x2 250 kr 200 kr 1
58143 |GT3 Turbo 14x2 250 kr 200 kr 1
58173 |GT3 Turbo 17x2 250 kr 200 kr 1
58193 |GT3 Turbo 19x2 250 kr 200 kr 1
58213 |GT3 Turbo 21x2 250 kr 200 kr 1




58233 |GT3 Turbo 23x2 250 kr 200 kr 1
Special Brushed
57161 |F1 Special Pro 420 kr 336 kr 1
57181 |Touring Car Special 2 420 kr 336 kr 1
57361 |Truck Puller2 7.2V 510 kr 408 kr 1
57461 |Truck Puller2 12V 510 kr 408 kr 1
57500 |Crawler Special 510 kr 408 kr 1
57671 |Rally Special 2 420 kr 336 kr 1
57801 |BigBlock Special 2 Motor 640 kr 512 kr 1
57900 |[Monster Truck Special 14.4Volt 470 kr 376 kr 1
58261 |Runner Special 2 220 kr 176 kr 1
58271 |Buggy Special 2 250 kr 200 kr 1
Airplane Brushed
5911 Zenit Sport 550-7-8 560 kr 448 kr 1
5912  |Zenit Sport 550-7-8 BB 760 kr 608 kr 1
59150 |Zenit Power 650-6-8 BB 1 050 kr 840 kr 1
59311 |Zenit Power 480-7-8 BB 720 kr 576 kr 1
Brushless motor spare parts
50607 |Ceramic Ball Bearing R2 (2pcs.) 200 kr 160 kr 1
50608 |[Ceramic Ball Bearing R166 (2pcs.) 200 kr 160 kr 1
50613 |Spare Rotor X11 StockSpec 12.3mm Sintered 490 kr 392 kr 1
50616 |[X11 cooling frontcover (open), black 250 kr 200 kr 1
50617 |X11 cooling frontcover (open - thin incl. short screws), black 280 kr 224 kr 1
50618 |X11 cooling aluminium rear cover, black 310 kr 248 kr 1
50620 |X12 MR104ZZ ABECS Ball Bearings (2pcs.) 110 kr 88 kr 1
50621 |X12 MR104ZZ Ceramic Ball Bearings (2pcs.) 210 kr 168 kr 1
50622 |X12 Small Parts Set 120 kr 96 kr 1
50623 |X12 Sensor Assembly 150 kr 120 kr 1
50624 |X12 Aluminium Front Housing 350 kr 280 kr 1
50625 |X12 Lightweight Aluminium Front Housing 370 kr 296 kr 1
50626 |X12 Aluminium Endcover with cooling fins 270 kr 216 kr 1
50627 |X12 Stock Spec Ball Bearings (2pcs) 110 kr 88 kr 1
50628 |Vector8 Ball Bearings (2pcs) 110 kr 88 kr 1
50632 |X12 Tuning Rotor Sintered - 12.0mm 370 kr 296 kr 1
50633 |X12 Rotor Sintered - 12.5mm 370 kr 296 kr 1
50634 |X12 Tuning Rotor Sintered - 13.0mm 370 kr 296 kr 1
50635 |X12 Stock Spec Sintered Rotor 370 kr 296 kr 1
50636 |X12 Sintered Rotor WorksTeam - 12.0mm t.b.a. t.b.a. 1
50637 |X12 Sintered Rotor WorksTeam - 12.5mm t.b.a. t.b.a. 1
50638 |X12 Sintered Rotor WorksTeam - 13.0mm t.b.a. t.b.a. 1
50639 |[X12 Stock Spec "1S LiPo" sintered tuning rotor 370 kr 296 kr 1
50975 |Vector8 Sintered Rotor 460 kr 368 kr 1
82520 |Radical Motor Heatsink + Fan 570 kr 456 kr 1
82700 |Brushless Worlds Option Kit 310 kr 248 kr 1
819307 |LRP Sensor-Wire HighFlex 70mm 70 kr 56 kr 1
819310 |[LRP Sensor-Wire HighFlex 100mm 70 kr 56 kr 1
819315 |[LRP Sensor-Wire HighFlex 150mm 70 kr 56 kr 1
819320 |[LRP Sensor-Wire HighFlex 200mm 70 kr 56 kr 1

Chargers, Dischargers, Powers Supplies and accessories

Chargers




41010 |Micro Charger Digital 610 kr 488 kr 1
41050 |Quick & Easy (NiCd) 740 kr 592 kr 1
41070 |NiMH Charger 810 kr 648 kr 1
41180 |Jet-Pro Charger 830 kr 664 kr 1
41281 |Quadra-Pro 2 Charger (incl. 2S-5S Balancer) 1740 kr 1392 kr 1
41552 |Pulsar Competition 3 Professional Battery & Motor Management t.b.a. t.b.a. 1
41555 |Pulsar Touch Competition t.h.a. t.b.a. 1
Dischargers
41361 |Concept Stickpack Conditioner 40 kr 32 kr 1
41370 |Concept Battery Conditioner 2 40 kr 32 kr 1
Powers Supplies
43140 |LRP Power Supply Sport 10A 1 660 kr 1328 kr 1
43150 |LRP Power Supply Competition 14A 2 010 kr 1608 kr 1
Accessories
45200 |LRP Precision Parallel LiPo Balancer 760 kr 608 kr 1
45000 |LRP LiPo RX Regulator 6V/5A 340 kr 272 kr 1
45010 |Heavy Duty BEC (6V/10A LiPo RX Reg.) 440 kr 352 kr 1

Brushless Combo Sets

80481 |BL Combo Nexxt 4x/ Vector 7900kv 2160 kr 1728 kr 1
80482 |BL Combo Nexxt 4x/ Vector 6900kv 2 160 kr 1728 kr 1
80483 |BL Combo Nexxt 4x/ Vector 5600kv 2160 kr 1728 kr 1
80581 |BL Combo A.l. Brushless/Eraser 15.5T 1750 kr 1400 kr 1
80582 |BL Combo A.l. Brushless/Eraser 13.5T 1920 kr 1536 kr 1
80583 |BL Combo A.l. Brushless Pro/Eraser 10.5T 2 140 kr 1712 kr 1
80584 |BL Combo A.l. Brushless Pro/Eraser 9.5T 2 310 kr 1848 kr 1
80585 |BL Combo A.l. Brushless Pro/ Vector X11 Stock 9.5T 2 450 kr 1960 kr 1
80586 |BL Combo A.l. Pro Reverse/Vector X11 9.5T - SHORT COURSE TRUCK 2 450 kr 1960 kr 1
80666 |BL Combo Truck Brushless 3450 kr 2760 kr 1
80627 |BL Combo Crawler 18.5T 2 440 kr 1952 kr 1
80628 |BL Combo Crawler 21.5T 2 440 kr 1952 kr 1
80629 |Brushed Combo Crawler 55T 2 440 kr 1952 kr 1
80630 |BL Combo SPX Bullet Reverse/ Vector X12 3.0T 4730 kr 3784 kr 1
80631 |BL Combo SPX Bullet Reverse/ Vector X12 3.5T 4710 kr 3768 kr 1
80632 |BL Combo SPX Bullet Reverse/ Vector X12 4.0T 4730 kr 3784 kr 1
80633 |BL Combo SPX Bullet Reverse/ Vector X12 4.5T 4710 kr 3768 kr 1
80638 |BL Combo SPX Bullet Reverse/ Vector X12 5.0T 4710 kr 3768 kr 1
80634 |BL Combo SPX Bullet Reverse/ Vector X12 5.5T 4710 kr 3768 kr 1
80635 |BL Combo SPX Bullet Reverse/ Vector X12 6.5T 4710 kr 3768 kr 1
80636 |BL Combo SPX Bullet Reverse/ Vector X12 7.5T 4710 kr 3768 kr 1
80637 |BL Combo SPX Bullet Reverse/ Vector X12 8.5T 4710 kr 3768 kr 1
80639 |BL Combo SPX Bullet Reverse/ Vector X12 9.5T 4730 kr 3784 kr 1
80640 |BL Combo SXX TC spec/ Vector X12 Modified 3.0T 6 090 kr 4872 kr 1
80641 |BL Combo SXX TC spec/ Vector X12 Modified 3.5T 6 030 kr 4 824 kr 1
80642 |BL Combo SXX TC spec/ Vector X12 Modified 4.0T 6 090 kr 4872 kr 1
80643 |BL Combo SXX TC spec/ Vector X12 Modified 4.5T 6 030 kr 4 824 kr 1
80644 |BL Combo SXX TC spec/ Vector X12 Modified 5.0T 6 090 kr 4872 kr 1
80645 |BL Combo SXX TC spec/ Vector X12 Modified 5.5T 6 030 kr 4 824 kr 1
80646 |BL Combo SXX TC spec/ Vector X12 Modified 6.5T 6 030 kr 4 824 kr 1
80647 |BL Combo SXX TC spec/ Vector X12 Modified 7.5T 6 030 kr 4 824 kr 1
80648 |BL Combo SXX TC spec/ Vector X12 Modified 8.5T 6 030 kr 4 824 kr 1




Stickpack NiCd

80649 |BL Combo SXX TC spec/ Vector X12 Modified 9.5T 6 030 kr 4 824 kr 1
80654 |BL Combo SXX Competition/ X12 Modified 5.0T 5540 kr 4 432 kr 1
80655 |BL Combo SXX Competition/ X12 Madified 5.5T 5540 kr 4 432 kr 1
80656 |BL Combo SXX Competition/ X12 Modified 6.5T 5540 kr 4 432 kr 1
80657 |BL Combo SXX Competition/ X12 Modified 7.5T 5540 kr 4 432 kr 1
80658 |BL Combo SXX Competition/ X12 Modified 8.5T 5540 kr 4 432 kr 1
80659 |BL Combo SXX Competition/ X12 Modified 9.5T 5540 kr 4 432 kr 1
80662 |BL Combo Ultimo Drift - Type 1 2 790 kr 2232 kr 1
80663 |BL Combo Ultimo Drift - Type 2 2940 kr 2 352 kr 1
80673 |BL Combo SXX Stoc SPEC/ X12 Stock SPEC 10.5T 6 090 kr 4872 kr 1
80674 |BL Combo SXX Stoc SPEC/ X12 Stock SPEC 13.5T 6 090 kr 4872 kr 1
80675 |BL Combo SXX Stoc SPEC/ X12 Stock SPEC 17.5T 6 090 kr 4872 kr 1
80676 |BL Combo SXX Stoc SPEC/ X12 Stock SPEC 21.5T 6 090 kr 4872 kr 1
80692 |Brushless Combo SPX8/ Vector 8 2500kv 6 270 kr 5016 kr 1
80693 |Brushless Combo SPX8/ Vector 8 2800kv 6 270 kr 5016 kr 1

71001 |Wildpack 1600/7,2V 6-cell stickpack 140 kr 112 kr 1
71021 |Sportpack 2200/8,4V 7-Zellen Stickpack 260 kr 208 kr 1
Stickpack NiMH
71110 |LRP Power Pack 2200 - 7.2V - 6-cell NiMH Stickpack 240 kr 192 kr 1
71115 |LRP Power Pack 3000 - 7.2V - 6-cell NiMH Stickpack 360 kr 288 kr 12
71115T |LRP Power Pack 3000 - 7.2V - 6-cell NiMH Stickpack with T-style Low Resistance Goldply 360 kr 288 kr 3
71116 |LRP Power Pack 3000 - 8.4V - 7-cell NiMH Stickpack 410 kr 328 kr
71117 |LRP Power Pack 3000 - 9.6V - 8-cell NiMH Stickpack 510 kr 408 kr 3
71118 |LRP Power Pack 3000 - 4.8V - 4-cell NiMH Stickpack 250 kr 200 kr 1
71120 |LRP Power Pack 3300 - 7.2V - 6-cell NiMH Stickpack 410 kr 328 kr 12
71125 |LRP Power Pack 3600 - 7.2V - 6-cell NiMH Stickpack 470 kr 376 kr 12
71130 |LRP Hyper Pack 4000 - 7.2V - 6-cell NiMH Stickpack 500 kr 400 kr 12
71131 |LRP Hyper Pack 4000 - 8.4V - 7-cell NiMH Stickpack 610 kr 488 kr
71132 |LRP Hyper Pack 4000 - 9.6V - 8-cell NiMH Stickpack 720 kr 576 kr 3
71135 |LRP Hyper Pack 4200 - 7.2V - 6-cell NiMH Stickpack 570 kr 456 kr 12
71136 |LRP Hyper Pack 4200 - 4.8V - 4-cell NiMH Stickpack 380 kr 304 kr 1
71140 |LRP Hyper Pack 4600 - 7.2V - 6-cell NiMH Stickpack 620 kr 496 kr 12
71140U |LRP Hyper Pack 4600 - 7.2V - 6-cell NiMH Stickpack with US-style plug 620 kr 496 kr 12
71141 |LRP Hyper Pack 4600 - 8.4V - 7-cell NiMH Stickpack 720 kr 576 kr
71142 |LRP Hyper Pack 4600 - 9.6V - 8-cell NiMH Stickpack 830 kr 664 kr 3
71145 |LRP Hyper Pack 5000 - 7.2V - 6-cell NiMH Stickpack 690 kr 552 kr 12
Receiver Batteries NiCd and NiMh
65851 |HiVolt+ Micro RX Pack, Str. 700 NiCd 80 kr 64 kr 1
65850 [HiVolt+ Micro RX Pack, Hump 700 NiMH 80 kr 64 kr 1
65860 |[LRP HV VTEC 1600EC Extra Capacity RX-Pack 6.0V - 1600mAh - Hump 300 kr 240 kr 1
65861 |LRP HV VTEC 1600EC Extra Capacity RX-Pack 6.0V - 1600mAh - Straight 300 kr 240 kr 1
65872 |HV VTEC SC-4000UP Longlife 1/5 RX-Pack 6.0V Hump 460 kr 368 kr 1
65873 |HV VTEC SC-4000UP Longlife 1/5 RX-Pack 6.0V Straight 460 kr 368 kr 1
LiPo Batteries Flight
79011 |LiPo Flight battery 500 - 25C - 7.4V 150 kr 120 kr 1
79020 |LiPo Flight battery 480 - 25C - 11.1V 250 kr 200 kr 1
79061 |LiPo Flight battery 950 - 25C - 7.4V 200 kr 160 kr 1
79065 |LiPo Flight battery 1000 - 25C - 7,4V 200 kr 160 kr 1




79066 |LiPo Flight battery 900 - 25C - 7.4V 230 kr 184 kr 1
79067 |LiPo Flight battery 1100 - 25C - 7.4V 240 kr 192 kr 1
79068 |LiPo Flight battery 1400 - 25C - 7.4V 290 kr 232 kr 1
79069 |LiPo Flight battery 1000 - 25C - 11.1V 300 kr 240 kr 1
79071 |LiPo Flight battery 950 - 25C - 11.1V 270 kr 216 kr 1
79079 |LiPo Flight battery 1100 - 25C - 11.1V 280 kr 224 kr 1
79110 |LiPo Flight battery 1100 - 25C - 7.4V 320 kr 256 kr 1
79111 |LiPo Flight battery 1500 - 25C - 7.4V 250 kr 200 kr 1
79121 |LiPo Flight battery 1500 - 25C - 11.1V 360 kr 288 kr 1
79161 [LiPo Flight battery 1900 - 25C - 7.4V 320 kr 256 kr 1
79171 |LiPo Flight battery 1900 - 25C - 11.1V 490 kr 392 kr 1
79211 |[LiPo Flight battery 2300 - 25C - 7.4V 420 kr 336 kr 1
79221 |LiPo Flight battery 2300 - 25C - 11.1V 610 kr 488 kr 1
79321 |LiPo Flight battery 4200 - 25C - 11.1V 1470 kr 1176 kr 1
79405 |VTEC Expert Airplane Line Lipo - 35C - 1300 - 3S1P - 11.1V 690 kr 552 kr 1
79415 |VTEC Expert Airplane Line Lipo - 35C - 2200 - 3S1P - 11.1V 1170 kr 936 kr 1
79425 |VTEC Expert Airplane Line Lipo - 35C - 3200 - 3S1P - 11.1V 1800 kr 1440 kr 1
79435 |VTEC Expert Airplane Line Lipo - 35C - 3700 - 3S1P - 11.1V 2 070 kr 1656 kr 1
LiPo Batteries Car
79820 |LiPo 1800 - 7.4V - 25C 570 kr 456 kr 1
79821 |LiPo 1800 Competition Car Line Hardcase - 7.4V - 28C 770 kr 616 kr 1
79831 |LiPo 1300 Competition Car Line Hardcase - 11.1V - 28C 860 kr 688 kr 1
79862 |LiPo 5300 Competition Car Line Hardcase - 7.4V - 28C 1180 kr 944 kr 1
79866 |LiPo Competition Car Line Saddle Hardcase 4800 - 7.4V - 40C 1680 kr 1 344 kr 1
79867 |LiPo 5300 Competition Car Line Hardcase - 7.4V - 30C 1220 kr 976 kr 1
79868 |LiPo 5300 Competition Car Line Hardcase - 7.4V - 40C 1680 kr 1 344 kr 1
79870 |LiPo 8000 Car Battery - 7,4V - 25C 2 380 kr 1904 kr 1
79880 |LiPo 3600 Competition Car Line Hardcase - 11.1V - 28C 1710 kr 1368 kr 1
79875 |LiPo 5600 Competition Car Line - 7.4V - 50C 1900 kr 1520 kr 1
79876 |LiPo 5900 Competition Car Line - 7.4V - 50C 2210 kr 1768 kr 1
79877 |LiPo 5400 Competition Car Line 1S Hardcase - 3.7V - 50C 1140 kr 912 kr 1
79878 |LiPo 5000 Competition Car Line Saddle Pack Hardcase - 7.4V - 50C 1900 kr 1520 kr 1
LiPo Batteries Car/Stickpack Hardcase
79890 |LRP LiPo Power Pack 2400 - 7.4V - 25C - Stickpack Hardcase 550 kr 440 kr 1
79891 |LRP LiPo Power Pack 3000 - 7.4V - 25C - Stickpack Hardcase 710 kr 568 kr 1
79892 |LRP LiPo Power Pack 3500 - 7.4V - 25C - Stickpack Hardcase 820 kr 656 kr 1
79893 |LRP LiPo Hyper Pack 4000 - 7.4V - 25C - Stickpack Hardcase 940 kr 752 kr 1
LiPo Batteries Receiver and Transmitter
79911 |LiPo RX-Pack AAA Hump 1700 - RX-only - 7.4V 360 kr 288 kr 1
79921 |LiPo RX-Pack 2/3A Straight 2400 - RX-only - 7.4V 470 kr 376 kr 1
79926 |LiPo RX-Pack 2/3A Hump 2500 - RX-only - 7.4V 470 kr 376 kr 1
79930 |LiPo RX-Pack - 1/5 Straight - 4500 - 7,4V 1400 kr 1120 kr 1
79935 |LiPo RX-Pack - 1/5 Hump - 5000 - 7,4V 1400 kr 1120 kr 1
79950 |LRP VTEC LiFePo RX-Pack 2/3A Straight 1600 - RX-only - 6.6V 460 kr 368 kr 1
79955 |LRP VTEC LiFePo RX-Pack 2/3A Hump 2000 - RX-only - 6.6V 540 kr 432 kr 1
79981 |LiPo TX-Pack Sanwa M11/MX-3 - Futaba 3PK 3600 - TX-only - 11.1V 850 kr 680 kr 1
79985 |LiPo TX-Pack Sanwa SD-10G/RDS8000-KO 2800 - TX-only - 11.1V 830 kr 664 kr 1
79990 |LiPo TX-Pack Sanwa M11-X 3600 - TX-only - 7.4V 620 kr 496 kr 1
1/18 Size NiMH Race Batteries
75610 |LRP 1600UP 7,2V NiMH Hump - Race 390 kr 312 kr 1




75620 |LRP 1600UP 7,2V NiMH Side-by-Side - Race 390 kr 312 kr 1
75625 |LRP 1600UP 7,2V NiMH Maverick Side-by-Side - Race 390 kr 312 kr 1
75630 |LRP 1600UP 7,2V NiMH Stickpack - Race 390 kr 312 kr 1
75635 |LRP 1600UP 8,4V NiMH Stickpack - Race 350 kr 280 kr 1
75637 |LRP 1600UP 8,4V NiMH Hump - Race 350 kr 280 kr 1
75650 [LRP 1600UP 9,6V NiMH Saddle Pack - Race 380 kr 304 kr 1
Mignon + Micro NiMH batteries
78111 |VTEC AAA 1100mAh Ultra Capacity 2 Micro Blister (4pcs.) 90 kr 72 kr 14
78221 |VTEC AA 3000mAh Ultra Capacity 2 Mignon Blister (4pcs.) 220 kr 176 kr 10
Instant Power batteries
78100 |VTEC 850IP Instant Power AAA Blister (4 cells) 80 kr 64 kr 14
78200 |VTEC 2200IP Instant Power AA Blister (4 cells) 150 kr 120 kr 10
Alkaline batteries
78800 |VTEC Alkaline AAA Ultra Performance 30 kr 24 kr 10
78850 |VTEC Alkaline AA Ultra Performance 40 kr 32 kr 10
78950 |VTEC Alkaline 9V Block Ultra Performance 30 kr 24 kr 10
LiPo battery accessories
65832 |LRP LiPo Hardcase balancing adapter 40 kr 32 kr 1
65833 |LRP LiPo Hardcase adapter wire 40 kr 32 kr 1
65835 |LRP 4mm Silver universal connectors 100 kr 80 kr 1
65845 |LRP LiPo Safe - 23 x 30cm 280 kr 224 kr 1

Blue Factor

6545 |X-plosion Comm Drops 140 kr 112 kr 1
6546 |Comm Stick 150 kr 120 kr 1
65130 |Doublesided Tape Pads (10pcs) 40 kr 32 kr 1
HiTemp Pure Silicon Qil
6620 HiTemp Pure Silicone Oil, 20 wt 100 kr 80 kr 1
6625 HiTemp Pure Silicone Qil, 25 wt 100 kr 80 kr 1
6630 HiTemp Pure Silicone Oil, 30 wt 100 kr 80 kr 1
6635 HiTemp Pure Silicone Qil, 35 wt 100 kr 80 kr 1
6640 HiTemp Pure Silicone Oil, 40 wt 100 kr 80 kr 1
6645 HiTemp Pure Silicone Qil, 45 wt 100 kr 80 kr 1
6650 HiTemp Pure Silicone Oil, 50 wt 100 kr 80 kr 1
6660 HiTemp Pure Silicone Qil, 60 wt 100 kr 80 kr 1
6670 HiTemp Pure Silicone Oil, 70 wt 100 kr 80 kr 1
6680 HiTemp Pure Silicone Qil, 80 wt 100 kr 80 kr 1
Additives and Spray Cans
65011 |Top Grip Carpet 2 180 kr 144 kr 1
65020 |Top Grip Asphalt additive 120 kr 96 kr 1
65120 |X-tra Cleaner 2 180 kr 144 kr 1
65221 |ZIP Plus 3 Superglue 70 kr 56 kr 1
65280 |Zip Turbo 2 Activator 50 kr 40 kr 1
Titanium srews
65390 |Titanium screw counter sunk M3x8mm (6pcs.) 50 kr 40 kr 1
65391 |Titanium screw counter sunk M3x10mm (6pcs.) 50 kr 40 kr 1
65392 |Titanium screw counter sunk M3x15mm (6pcs.) 50 kr 40 kr 1
65393 |Titanium screw counter sunk M3x8mm (6pcs.) 50 kr 40 kr 1
65394 |Titanium screw counter sunk M3x12mm (6pcs.) 50 kr 40 kr 1
65395 |Titanium screw counter sunk M3x18mm (6pcs.) 50 kr 40 kr 1
65396 |Washer counter sunk - blue (12 pcs.) 90 kr 72 kr 1




Ball Bearings + Oil

65410 |LRP Ceramic low-friction ball bearing 5x10x4 (2 pcs) 110 kr 88 kr 1
65411 |LRP Ceramic low-friction ball bearing 8x16x5 (2 pcs) 110 kr 88 kr 1
65412 |LRP Ceramic low-friction ball bearing 10x15x4 (2 pcs) 120 kr 96 kr 1
65430 |Ball Bearing Oil 2 100 kr 80 kr 1
Wrenches and tools
65641 |LRP WorksTeam Tools 1.5mm Hex 130 kr 104 kr 1
65651 |LRP WorksTeam Tools 2.0mm Hex 130 kr 104 kr 1
65661 |LRP WorksTeam Tools 2.5mm Hex 130 kr 104 kr 1
65671 |LRP WorksTeam Tools 3.0mm Hex 130 kr 104 kr 1
65701 |LRP Body Reamer Wrench 220 kr 176 kr 1
65711 |LRP WorksTeam Tools 5.5mm Socket 150 kr 120 kr 1
65721 |LRP WorksTeam Tools 7mm Socket 150 kr 120 kr 1
65751 |LRP WorksTeam Tools Philipps, large 180 kr 144 kr 1
65761 |LRP WorksTeam Tools Slot, large 160 kr 128 kr 1
65771 |LRP WorksTeam Tools Philipps, small 160 kr 128 kr 1
65781 |LRP WorksTeam Tools Slot, small 150 kr 120 kr 1
65790 |Works Team Tools, Motor Bearing Replacer 500 kr 400 kr 1
Solder station + Aaccessories
65800 |LRP HighPower Soldering Station 3780 kr 3024 kr 1
65802 |Soldering Tip 5.0mm, HighPower Station 140 kr 112 kr 1
65803 |Soldering Tip 1.2mm, HighPower Station 140 kr 112 kr 1
65804 |Handle Assembly LRP HighPower Soldering station 1140 kr 912 kr 1
65810 |VTEC Silver Battery Bars 100 kr 80 kr 1
65830 |Silver Battery Connectors 140 kr 112 kr 1
Stopwatch
65900 |Works Team Racing Stopwatch (incl USB) 760 kr 608 kr 1
Steel Pinion
66016 |Steel Pinion 48dp 16T 130 kr 104 kr 1
66017 |Steel Pinion 48dp 17T 130 kr 104 kr 1
66018 |Steel Pinion 48dp 18T 130 kr 104 kr 1
66019 |Steel Pinion 48dp 19T 130 kr 104 kr 1
66020 |Steel Pinion 48dp 20T 130 kr 104 kr 1
66021 |Steel Pinion 48dp 21T 130 kr 104 kr 1
66022 |Steel Pinion 48dp 22T 130 kr 104 kr 1
66023 |Steel Pinion 48dp 23T 130 kr 104 kr 1
66024 |Steel Pinion 48dp 24T 130 kr 104 kr 1
66025 |Steel Pinion 48dp 25T 130 kr 104 kr 1
66026 |Steel Pinion 48dp 26T 130 kr 104 kr 1
66027 |Steel Pinion 48dp 27T 130 kr 104 kr 1
66028 |Steel Pinion 48dp 28T 130 kr 104 kr 1
66029 |Steel Pinion 48dp 29T 130 kr 104 kr 1
66030 |Steel Pinion 48dp 30T 130 kr 104 kr 1
66031 |Steel Pinion 48dp 31T 130 kr 104 kr 1
66032 |Steel Pinion 48dp 32T 130 kr 104 kr 1
66033 |Steel Pinion 48dp 33T 130 kr 104 kr 1
66034 |Steel Pinion 48dp 34T 130 kr 104 kr 1
66035 |Steel Pinion 48dp 35T 130 kr 104 kr 1
Delrin Spur Gear
66074 |Delrin Spur Gear 48dp 74T 100 kr 80 kr 1




66075 |Delrin Spur Gear 48dp 75T 100 kr 80 kr 1
66076 |Delrin Spur Gear 48dp 76T 100 kr 80 kr 1
66081 |Delrin Spur Gear 48dp 81T 100 kr 80 kr 1
HiTemp Silicone Differential Oil
66100 |LRP HiTemp Silicone Differential Oil - 10 000 100 kr 80 kr 1
66150 |[LRP HiTemp Silicone Differential Oil - 15 000 100 kr 80 kr 1
66200 |LRP HiTemp Silicone Differential Oil - 20 000 100 kr 80 kr 1
66300 |[LRP HiTemp Silicone Differential Oil - 30 000 100 kr 80 kr 1
66500 |LRP HiTemp Silicone Differential Oil - 50 000 100 kr 80 kr 1
66610 |LRP HiTemp Silicone Differential Oil - 1000 100 kr 80 kr 1
66620 |LRP HiTemp Silicone Differential Oil - 2000 100 kr 80 kr 1
66630 |LRP HiTemp Silicone Differential Oil - 3000 100 kr 80 kr 1
66650 |LRP HiTemp Silicone Differential Oil - 5000 100 kr 80 kr 1
66670 |LRP HiTemp Silicone Differential Oil - 7000 100 kr 80 kr 1
Aluminium Pinion
67025 |Aluminium Pinion 64dp 25T 120 kr 96 kr 1
67026 |Aluminium Pinion 64dp 26T 120 kr 96 kr 1
67027  |Aluminium Pinion 64dp 27T 120 kr 96 kr 1
67028 |Aluminium Pinion 64dp 28T 120 kr 96 kr 1
67029 |Aluminium Pinion 64dp 29T 120 kr 96 kr 1
67030 |Aluminium Pinion 64dp 30T 120 kr 96 kr 1
67031 |Aluminium Pinion 64dp 31T 120 kr 96 kr 1
67032 |Aluminium Pinion 64dp 32T 120 kr 96 kr 1
67033 |Aluminium Pinion 64dp 33T 120 kr 96 kr 1
67034 |Aluminium Pinion 64dp 34T 120 kr 96 kr 1
67035 |Aluminium Pinion 64dp 35T 120 kr 96 kr 1
67036 |Aluminium Pinion 64dp 36T 120 kr 96 kr 1
67037 |Aluminium Pinion 64dp 37T 120 kr 96 kr 1
67038 |Aluminium Pinion 64dp 38T 120 kr 96 kr 1
67039 |Aluminium Pinion 64dp 39T 120 kr 96 kr 1
67040 |Aluminium Pinion 64dp 40T 120 kr 96 kr 1
67041 |Aluminium Pinion 64dp 41T 120 kr 96 kr 1
67042 |Aluminium Pinion 64dp 42T 120 kr 96 kr 1
67043 |Aluminium Pinion 64dp 43T 120 kr 96 kr 1
67044  |Aluminium Pinion 64dp 44T 120 kr 96 kr 1
67045 |Aluminium Pinion 64dp 45T 120 kr 96 kr 1
67046 |Aluminium Pinion 64dp 46T 120 kr 96 kr 1
67047 |Aluminium Pinion 64dp 47T 120 kr 96 kr 1
67048 |Aluminium Pinion 64dp 48T 120 kr 96 kr 1
67049 |Aluminium Pinion 64dp 49T 120 kr 96 kr 1
67050 |Aluminium Pinion 64dp 50T 120 kr 96 kr 1
67051 |Aluminium Pinion 64dp 51T 140 kr 112 kr 1
67052 |Aluminium Pinion 64dp 52T 140 kr 112 kr 1
Delrin Spur Gear
67087 |Delrin Spur Gear 64dp 87T 100 kr 80 kr 1
67090 |[Delrin Spur Gear 64dp 90T 100 kr 80 kr 1
67098 |Delrin Spur Gear 64dp 98T 100 kr 80 kr 1
67100 |Delrin Spur Gear 64dp 100T 100 kr 80 kr 1
67102 |Delrin Spur Gear 64dp 102T 100 kr 80 kr 1
67104 |Delrin Spur Gear 64dp 104T 100 kr 80 kr 1




VTEC 1/10 Foam Tyres

67106 |Delrin Spur Gear 64dp 106T 100 kr 80 kr 1
67108 |Delrin Spur Gear 64dp 108T 100 kr 80 kr 1
67110 |Delrin Spur Gear 64dp 110T 100 kr 80 kr 1
67112 |Delrin Spur Gear 64dp 112T 100 kr 80 kr 1
67116 |Delrin Spur Gear 64dp 116T 100 kr 80 kr 1
Battery Tape
67210 |Battery Tape, black 250 kr 200 kr 1
67211 |Battery Tape, purple 250 kr 200 kr 1

VTEC Tyre Line

64035 |VTEC Foam 1/10 Front 35 shore 210 kr 168 kr 1
64037 |VTEC Foam 1/10 Front 37 shore 210 kr 168 kr 1
64040 |VTEC Foam 1/10 Front 40 shore 210 kr 168 kr 1
64042 |VTEC Foam 1/10 Front 42 shore 210 kr 168 kr 1
64045 |VTEC Foam 1/10 Front 45 shore 210 kr 168 kr 1
64135 |VTEC Foam 1/10 Rear 35 shore 210 kr 168 kr 1
64137 |VTEC Foam 1/10 Rear 37 shore 210 kr 168 kr 1
64140 |VTEC Foam 1/10 Rear 40 shore 210 kr 168 kr 1
64142 |VTEC Foam 1/10 Rear 42 shore 210 kr 168 kr 1
VTEC Pre-Glued 1/10 Rubber Touring Car Tyres
65031 |VTEC CPX, Pre-Glued Carpet Wheels (4pcs) 390 kr 312 kr 1
65032 |VTEC 27X, Pre-Glued Asphalt Wheels (4pcs) 380 kr 304 kr 1
65034 |VTEC 30X, Pre-Glued Asphalt Wheels (4pcs) 380 kr 304 kr 1
65035 |VTEC 33X, Pre-Glued Asphalt Wheels (4pcs) 380 kr 304 kr 1
65052 |VTEC-Competition pre-glued and mounted 27R (2pcs) 340 kr 272 kr 1
65053 |VTEC-Competition pre-glued and mounted 30R (2pcs) 340 kr 272 kr 1
65055 |VTEC Rain Tire Dunlop D20 pre-glued (2pcs) 410 kr 328 kr 1
65062 |VTEC-Competition Tyre 24mm - 27R (2pcs) 220 kr 176 kr 1
65070 |VTEC-Truspin rim 24mm (2pcs) 60 kr 48 kr 1
65071 |VTEC 24mm X-Dish Wheel white (4pcs) 80 kr 64 kr 1
65075 |VTEC Wheel Sticker Racing 10-Spoke 20 kr 16 kr 1
65076 |VTEC Wheel Sticker Multi Spoke 20 kr 16 kr 1
65081 |VTEC-Inserts White 24mm - soft (2pcs) 60 kr 48 kr 1
65084 |VTEC INSERTS BLUE 24mm - thinn (2pcs) 60 kr 48 kr 1
65086 |VTEC Inserts white 24mm Soft (4pcs) 350 kr 280 kr 1
VTEC 1/8 Off Road Competition Buggy Tires (incl. inserts)
65511SS |VTEC KAMIKAZE - 1/8 Buggy tire - super soft 220 kr 176 kr 1
65511S |VTEC KAMIKAZE - 1/8 Buggy tire - soft 220 kr 176 kr 1
65511M |VTEC KAMIKAZE - 1/8 Buggy tire - medium 220 kr 176 kr 1
65513SS |VTEC SUICIDE - 1/8 Buggy tire - super soft 220 kr 176 kr 1
65513S |VTEC SUICIDE - 1/8 Buggy tire - soft 220 kr 176 kr 1
65513M |VTEC SUICIDE - 1/8 Buggy tire - medium 220 kr 176 kr 1
65515SS |VTEC HARAKIRI - 1/8 Buggy tire - super soft 220 kr 176 kr 1
65515S |VTEC HARAKIRI - 1/8 Buggy tire - soft 220 kr 176 kr 1
65515M |VTEC HARAKIRI - 1/8 Buggy tire - medium 220 kr 176 kr 1
65517SS |VTEC BANZAI - 1/8 Buggy tire - super soft (excluding inserts) 200 kr 160 kr 1
65517S |VTEC BANZAI - 1/8 Buggy tire - soft (excluding inserts) 200 kr 160 kr 1
65517M [VTEC BANZAI - 1/8 Buggy tire - medium (excluding inserts) 200 kr 160 kr 1

VTEC 1/8 Off Road Competition Buggy Pre-Mounted + Glued Wheels




Magic Colour 2 Paint Spray

65510SS |VTEC KAMIKAZE - 1/8 Buggy wheel - super soft 340 kr 272 kr 1
65510S |VTEC KAMIKAZE - 1/8 Buggy wheel - soft 340 kr 272 kr 1
65510M |VTEC KAMIKAZE - 1/8 Buggy wheel - medium 340 kr 272 kr 1
65512SS |VTEC SUICIDE - 1/8 Buggy wheel - super soft 340 kr 272 kr 1
65512S |[VTEC SUICIDE - 1/8 Buggy wheel - soft 340 kr 272 kr 1
65512M |VTEC SUICIDE - 1/8 Buggy wheel - medium 340 kr 272 kr 1
65514SS |VTEC HARAKIRI - 1/8 Buggy wheel - super soft 340 kr 272 kr 1
65514S |VTEC HARAKIRI - 1/8 Buggy wheel - soft 340 kr 272 kr 1
65514M |VTEC HARAKIRI - 1/8 Buggy wheel - medium 340 kr 272 kr 1
65516SS |VTEC BANZAI - 1/8 Buggy wheel - super soft 340 kr 272 kr 1
65516S |VTEC BANZAI - 1/8 Buggy wheel - soft 340 kr 272 kr 1
65516M |VTEC BANZAI - 1/8 Buggy wheel - medium 340 kr 272 kr 1
VTEC 1/8 Off Road Competition Truggy LP Tires (incl. inserts)
65521SS |VTEC KAMIKAZE - 1/8 Truggy LP tire - super soft 340 kr 272 kr 1
65521S |VTEC KAMIKAZE - 1/8 Truggy LP tire - soft 340 kr 272 kr 1
65521M |VTEC KAMIKAZE - 1/8 Truggy LP tire - medium 340 kr 272 kr 1
65523SS |VTEC SUICIDE - 1/8 Truggy LP tire - super soft 340 kr 272 kr 1
65523S |VTEC SUICIDE - 1/8 Truggy LP tire - soft 340 kr 272 kr 1
65523M |VTEC SUICIDE - 1/8 Truggy LP tire - medium 340 kr 272 kr 1
65525SS |VTEC HARAKIRI - 1/8 Truggy LP tire - super soft 340 kr 272 kr 1
65525S |VTEC HARAKIRI - 1/8 Truggy LP tire - soft 340 kr 272 kr 1
65525M |VTEC HARAKIRI - 1/8 Truggy LP tire - medium 340 kr 272 kr 1
VTEC 1/8 Off Road Competition Truggy LP Pre-Mounted + Glued Wheels
65520SS |VTEC KAMIKAZE - 1/8 Truggy LP wheel - super soft 520 kr 416 kr 1
65520S |VTEC KAMIKAZE - 1/8 Truggy LP wheel - soft 520 kr 416 kr 1
65520M |VTEC KAMIKAZE - 1/8 Truggy LP wheel - medium 520 kr 416 kr 1
65522SS |VTEC SUICIDE - 1/8 Truggy LP wheel - super soft 520 kr 416 kr 1
65522S |VTEC SUICIDE - 1/8 Truggy LP wheel - soft 520 kr 416 kr 1
65522M |VTEC SUICIDE - 1/8 Truggy LP wheel - medium 520 kr 416 kr 1
65524SS |VTEC HARAKIRI - 1/8 Truggy LP wheel - super soft 520 kr 416 kr 1
65524S |VTEC HARAKIRI - 1/8 Truggy LP wheel - soft 520 kr 416 kr 1
65524M |VTEC HARAKIRI - 1/8 Truggy LP wheel - medium 520 kr 416 kr 1
VTEC 1/8 Competition Tire Accessories
65530 |VTEC 1/8 Buggy molded tire insert - soft - yellow (2 pcs.) 80 kr 64 kr 1
65531 |VTEC 1/8 Buggy molded tire insert - medium - blue (2 pcs.) 80 kr 64 kr 1
65532 |VTEC 1/8 Buggy High-Response moulded insert - blue (4pcs.) 210 kr 168 kr 1
65535 |VTEC 1/8 Truggy LP molded tire insert - soft - yellow (2 pcs.) 140 kr 112 kr 1

Magic Colour Paint

28100 |[Magic Colour 2 White 80 kr 64 kr 6
28102 |Magic Colour 2 Yellow 80 kr 64 kr 6
28103 |Magic Colour 2 Red 80 kr 64 kr 6
28104 |Magic Colour 2 Orange 80 kr 64 kr 6
28113 |Magic Colour 2 Black 80 kr 64 kr 6
28114 |Magic Colour 2 Skyblue 80 kr 64 kr 6
28201 |Magic Colour 2 Metallicblue 80 kr 64 kr 6
28205 |Magic Colour 2 Silver 80 kr 64 kr 6
28212 |Magic Colour 2 Metallic - Imprezzablue 80 kr 64 kr 6
28302 [Magic Colour 2 Flourescent Yellow 90 kr 72 kr 6




28304 |Magic Colour 2 Flourescent Orange 90 kr 72 kr 6
28306 |Magic Colour 2 Flourescent Green 90 kr 72 kr 6
28405 |Magic Colour 2 Ice Colour Silver 80 kr 64 kr 6
28408 |[Magic Colour 2 Ice Colour Magenta 80 kr 64 kr 6
28411 |Magic Colour 2 Ice Colour Lightblue 80 kr 64 kr 6
28500 |[Magic Colour 2 Real Chrome 280 kr 224 kr 6
28600 |Magic Colour 2 Pearlwhite 80 kr 64 kr 6
28601 |Magic Colour 2 Smokegrey 80 kr 64 kr 6
28602 |Magic Colour 2 Nitroblock 80 kr 64 kr 6
Magic Colour F Paint Spray
28700 |Magic Colour F - Shop Display filled-up 3 040 kr 2432 kr 6
28701 |Magic Colour F - White 70 kr 56 kr 6
28702 |Magic Colour F - Royal Blue 70 kr 56 kr 6
28703 |Magic Colour F - Yellow 70 kr 56 kr 6
28704 |Magic Colour F - Red 70 kr 56 kr 6
28705 |Magic Colour F - Orange 70 kr 56 kr 6
28706 |Magic Colour F - Silver 70 kr 56 kr 6
28707 |Magic Colour F - Black 70 kr 56 kr 6
28708 |Magic Colour F - Sky Blue 70 kr 56 kr 6
28709 [|Magic Colour F - Luminous Yellow 70 kr 56 kr 6
28710 |Magic Colour F - Luminous Orange 70 kr 56 kr 6
28711 |Magic Colour F - Luminous Green 70 kr 56 kr 6
28712 |Magic Colour F - Light Blue 70 kr 56 kr 6
28713 |Magic Colour F - Dark Blue 70 kr 56 kr 6
28714 |Magic Colour F - Inca Yellow 70 kr 56 kr 6
28715 |Magic Colour F - Green 70 kr 56 kr 6
28716 |Magic Colour F - Dark Green 70 kr 56 kr 6
28717 |Magic Colour F - Grey 70 kr 56 kr 6
28718 |Magic Colour F - Military Green 70 kr 56 kr 6
28719 |Magic Colour F - Military Brown 70 kr 56 kr 6
28720 |Magic Colour F - Clear Varnish 70 kr 56 kr 6

Nitro Engines

Nitro Engines

32110 |ZR.21X Competition 5100 kr 4080 kr 1
32815 |ZR.30 X Truggy Competition 3 740 kr 2992 kr 1
30700 |Z1.2S Pullstart 860 kr 688 kr 1
31801 |Z.18S Pro Spec.2 Pullstart 1780 kr 1424 kr 1
32171 |Z.21R Spec.2 Pullstart 1 740 kr 1392 kr 1
32802 |Z.28R Spec.3 Pullstart 2 640 kr 2112 kr 1
32810 |ZR.30 Spec.2 Pullstart 3120 kr 2 496 kr 1
Nitro Engines Spareparts
38050 |360 Rotatable Backplate for Z.15R-Z.21R 280 kr 224 kr 1
38051 |360 Rotatable Backplate for Z.28R 280 kr 224 kr 1
38111 |Z.21R Team - Backplate 280 kr 224 kr 1
38113 |Z.21R Team Spec.2 - Cylinder Head Set 830 kr 664 kr 1
38131 |Z.28R - Pull Starter Front Parts 420 kr 336 kr 1
38132 |Z.28R - Pull Starter Rear Parts 480 kr 384 kr 1
38133 |Z.28R - Cylinder Head Set 890 kr 712 kr 1
38135 |Z.28R Pullstart - Cylinder Head Set 890 kr 712 kr 1
38136 |Rotostart Set complete Z.28R Spec2/3 350 kr 280 kr 1




38137 |Z.28R Spec.3 - Cylinder Head Set 890 kr 712 kr 1
38138 |Z.28R - TT Tiger Drive/AE Dual Start Set 280 kr 224 kr 1
38139 |Z.28R Spec.3 Truggy - Cylinder Head Set 890 kr 712 kr 1
38141 |Z.21R Pullstart - Crankcase 830 kr 664 kr 1
38142 |Z.21R Pullstart - Pull Starter Rear 420 kr 336 kr 1
38143 |Z.21R Spec.2 Pulls. - Cylinder Head Set 620 kr 496 kr 1
38211 |Z.21R Team - Conrod 690 kr 552 kr 1
38212 |Z.21R Team - Wrist Pin & Clips 100 kr 80 kr 1
38213 |Z.21R Team - Crankshaft 1650 kr 1320 kr 1
38214 |Z.21R Team - Rear Ball Bearing 480 kr 384 kr 1
38215 |Z.21R Team - Burn Room & Head Shim Set 420 kr 336 kr 1
38217 |Z.21R Team Spec.2 - Crankshaft 1370 kr 1096 kr 1
38231 |Z.28R - Conrod 620 kr 496 kr 1
38232 |Z.28R - Wrist Pin & Clips 100 kr 80 kr 1
38234 |Z.28R - Rear Ball Bearing 350 kr 280 kr 1
38235 |Z.28R - Burn Room & Head Shim Set 420 kr 336 kr 1
38237 |Z.28R Spec.3 - Piston & Sleeve Set 1370 kr 1096 kr 1
38238 |Z.28R Spec.3 - Crankshaft 1370 kr 1096 kr 1
38240 |Z.21R Pullstart - Burn Room & Head Shim Set 210 kr 168 kr 1
38241 |Z.21R Pullstart - Piston & Sleeve Set 1100 kr 880 kr 1
38242 |Z.21R Pullstart Conrod 420 kr 336 kr 1
38243 |Z.21R Pulistart - Rear Ball Bearing 280 kr 224 kr 1
38311 |Z.21R Team Spec.2 - Slide Carburator Set 760 kr 608 kr 1
38332 |Z.28R Spec.3 - Slide Carburator Set 760 kr 608 kr 1
38340 |Z.21R Spec.2 Pull. - Slide Carburator Se 760 kr 608 kr 1
38390 |Z.21R Team /.28R - Various Parts Bag 140 kr 112 kr 1
38440 |Z.21R Spec.2 Pulls. - Various Parts Bag 140 kr 112 kr 1
38490 |Z.21R Team/.28R - O-Ring Set 280 kr 224 kr 1
38491 |.15 - .28 One-Way Bearing Pullstart 210 kr 168 kr 1
38500 |ZR.21 X - Crankcase 3010 kr 2 408 kr 1
38501 |ZR.21 X - Cylinder Head incl. Screws 1160 kr 928 kr 1
38502 |ZR.21 X - Slide Carburetor (changeable) 1310 kr 1048 kr 1
38503 |ZR.21 X - Backplate 390 kr 312 kr 1
38510 |[LRP ZR.21 X - 7mm Factory Team carburetor 990 kr 792 kr 1
38520 |ZR.21 X - Piston & Sleeve Set incl. Turbo Burn Room 2 330 kr 1864 kr 1
38522 |ZR.21 X - Conrod 700 kr 560 kr 1
38523 |ZR.21 X - Wrist Pin & Clips 170 kr 136 kr 1
38524 |ZR.21 X - Crankshaft 1 690 kr 1352 kr 1
38525 |ZR.21 X - Ball Bearing Front 250 kr 200 kr 1
38526 |ZR.21 X - Ball Bearing Rear 640 kr 512 kr 1
38540 |ZR.21 X - Head Shims (8 pcs.) 40 kr 32 kr 1
38541 |ZR.21 X - Various Parts Bag 220 kr 176 kr 1
38542 |ZR.21 X - O-Ring Set 210 kr 168 kr 1
38543 |ZR.21 X - Manifold rubber (3 pcs.) 190 kr 152 kr 1
38550 |ZR.30 - Crankcase 840 kr 672 kr 1
38551 |ZR.30 X - Cylinder Head incl. Screws 820 kr 656 kr 1
38552 |ZR.30 Spec.2 - Cylinder Head incl. Screws 790 kr 632 kr 1
38553 |ZR.30 X - Slide Carburetor (changeable) 760 kr 608 kr 1
38554 |ZR.30 Spec.2 - 9mm Slide Carburetor 620 kr 496 kr 1
38555 |ZR.30 X - Backplate 210 kr 168 kr 1




38556 |ZR.30 Spec.2 - Pullstarter Front Parts (Linkage) 200 kr 160 kr 1
38557 |ZR.30 Spec.2 - Pullstarter Rear Parts (Backplate) 370 kr 296 kr 1
38570 |ZR.30 - Burn Room 170 kr 136 kr 1
38571 |ZR.30 X - 7+1 Port Piston & Sleeve Set 1210 kr 968 kr 1
38572 |ZR.30 Spec.2 - 5+1 Port Piston & Sleeve Set 1070 kr 856 kr 1
38573 |ZR.30 - Conrod 420 kr 336 kr 1
38574 |ZR.30 - Wrist Pin & Clips 60 kr 48 kr 1
38575 |ZR.30 - Crankshaft 730 kr 584 kr 1
38576 |ZR.30 - Ball Bearing Front (7x19x6mm) 130 kr 104 kr 1
38577 |ZR.30 - Ball Bearing Rear (14x25.4x6mm) 280 kr 224 kr 1
38590 |ZR.30 - Headshims (4 pcs) 80 kr 64 kr 1
38591 |ZR.30 - Various Parts Bag 230 kr 184 kr 1
38592 |ZR.30 - O-Ring Set 210 kr 168 kr 1
39111 |Z.12R Team - Backplate 210 kr 168 kr 1
39112 |Z.12R Team - Cylinder Head Set 700 kr 560 kr 1
39113 |Z.12R Team - Manifold rubber & spring set 140 kr 112 kr 1
39114 |Z.12R Team Spec.2 - Crankcase 1260 kr 1008 kr 1
39115 |Z.12R Team Spec.2 - Cylinder Head Set 700 kr 560 kr 1
39116 |Z.12R Team Truck - Cylinder Head Set 700 kr 560 kr 1
39117 |Z.12R Team Spec.3 - Cylinder Head Set 700 kr 560 kr 1
39118 |Z.12R Team Spec.4 - Cylinder Head Set 700 kr 560 kr 1
39122 |Z.12R Race - Cylinder Head Set 550 kr 440 kr 1
39123 |Z.12R Race Spec.2 - Cylinder Head Set 550 kr 440 kr 1
39132 |Z.15S - Cylinder Head Set 480 kr 384 kr 1
39133 |Z.15S Spec.2 - Cylinder Head Set 480 kr 384 kr 1
39150 |Z.18S Pro Pullstart - Cylinder Head Set 480 kr 384 kr 1
39151 |Z.18S - Crankcase 550 kr 440 kr 1
39152 |Z.18S Pro Spec.2 - Cylinder Head Set 480 kr 384 kr 1
39194 |Z.15S/.16S/.18S/.21R - Pull Starter Front Parts 280 kr 224 kr 1
39195 |Z.15/.16S/.18S - Pull Starter Rear Parts 420 kr 336 kr 1
39209 |Z.12R Team Spec.4 - Crankshaft 920 kr 736 kr 1
39212 |Z.12R Team - Wrist Pin & Clips 120 kr 96 kr 1
39213 |Z.12R Team - Crankshaft 1 050 kr 840 kr 1
39214 |Z.12R Team - Ball Bearing Set (Front & Rear) 770 kr 616 kr 1
39217 |Z.12R Team Spec.2 - Burn Room & Head Shim Set 350 kr 280 kr 1
39218 |Z.12R Team Truck - Std. Crankshaft 1 050 kr 840 kr 1
39220 |Z.12R Race - Piston & Sleeve Set 1 240 kr 992 kr 1
39221 |Z.12R Team Spec.3 - Burn Room & Head Shim Set 350 kr 280 kr 1
39223 |Z.12R Race - Crankshaft 960 kr 768 kr 1
39224 |Z.12R Team Spec.3 - Piston & Sleeve Set 1400 kr 1120 kr 1
39230 |Z.15S - Piston & Sleeve Set 830 kr 664 kr 1
39231 |Z.15S - Conrod 280 kr 224 kr 1
39240 |Z.16S - Piston & Sleeve Set 890 kr 712 kr 1
39250 |Z.18S - Burn Room & Head Shim Set 280 kr 224 kr 1
39251 |Z.18S - Piston & Sleeve Set 960 kr 768 kr 1
39252 |Z.18S - Conrod 280 kr 224 kr 1
39253 |Z.18S - Front Ball Bearing 210 kr 168 kr 1
39254 |Z.18S Pro Spec.2 - Piston & Sleeve Set 960 kr 768 kr 1
39255 |Z.18S - Crankshaft 690 kr 552 kr 1
39291 |Z.12R Race/.16S - Conrod 350 kr 280 kr 1




39292 |Z.12/.15/.16/.18 - Rear Ball Bearing 240 kr 192 kr 1
39293 |Z.12/.15/.16/.21/.28 - Front Ball Bearing 180 kr 144 kr 1
39294 |Z.15S/.16S/.18S - Wrist Pin & Clips 90 kr 72 kr 1
39295 |Z.15S/.16S - Crankshaft 480 kr 384 kr 1
39296 |Z.12/.15/.16 - Front Ball Bearing 120 kr 96 kr 1
39310 |Z.12R Team - Slide Carburator Set 910 kr 728 kr 1
39312 |Z.12R Team Spec.4 - Slide Carburator Set 790 kr 632 kr 1
39321 |Z.12/.15/.16/.18 - Various Parts Bag 210 kr 168 kr 1
39390 |Z.15S/.16S/.18S - Rotary Carburetor Set 550 kr 440 kr 1
39410 |Z.12R Team - Various Parts Bag 210 kr 168 kr 1
39411 |Z.12R Team - O-Ring Set 140 kr 112 kr 1
39420 |Z.12R/.15S/.16S/.18S - O-Ring Set 240 kr 192 kr 1
39500 |Z.07S - Crankcase 550 kr 440 kr 1
39501 |Z.07S - Pull Starter Front Parts 280 kr 224 kr 1
39502 |Z.07S - Pull Starter Rear Parts 420 kr 336 kr 1
39503 |Z.07S - Cylinder Head Set 480 kr 384 kr 1
39520 |Z.07S - Piston & Sleeve Set 830 kr 664 kr 1
39521 |Z.07S - Conrod 280 kr 224 kr 1
39522 |Z.07S - Wrist Pin & Clips 90 kr 72 kr 1
39523 |Z.07S - Burn Room & Head Shim Set 210 kr 168 kr 1
39524 |Z.07S - Crankshaft 480 kr 384 kr 1
39527 |Z.07S - One-Way Bearing Pullstart 210 kr 168 kr 1
39540 |Z.07S - Slide Carburetor Set 550 kr 440 kr 1
39550 |Z.07S - O-Ring Set 280 kr 224 kr 1
39551 |Z.07S - Various Parts Bag 140 kr 112 kr 1
Platinum/Iridium Glow Plugs
35031 |LRP Platinum/Iridium glow plug 2 - standard - R3 medium/hot 60 kr 48 kr 12
35041 |LRP Platinum/Iridium glow plug 2 - standard - R4 medium 70 kr 56 kr 12
35051 |LRP Platinum/Iridium glow plug 2 - standard - R5 medium/cold 80 kr 64 kr 12
35061 |LRP Platinum/Iridium glow plug 2 - standard - R6 cold 90 kr 72 kr 12
35130 |LRP Platinum/Iridium glow plug 2 - Turbo - T3 hot 80 kr 64 kr 12
35140 |LRP Platinum/Iridium glow plug 2 - Turbo - T4 - medium/hot 90 kr 72 kr 12
35150 |LRP Platinum/Iridium glow plug 2 - Turbo - T5 - medium 100 kr 80 kr 12
Exhaust Systems and Air Filters
36161 |LRP 1/10 High Performance Pipe 480 kr 384 kr 1
36224 |LRP 1/8 Offroad EFRA#3037 3-Chamber Small parts set 120 kr 96 kr 1
36241 |LRP 1/8 Offroad EFRA#3039 3-Chamber Pipe 630 kr 504 kr 1
36244 |LRP 1/8 Offroad EFRA#3039 3-Chamber Small parts set 170 kr 136 kr 1
36250 |Enduro-46 1/8 Off Road Exhaust System- EFRA #2076 1190 kr 952 kr 1
36251 |Enduro-46 1/8 Off Road Small Part Set 180 kr 144 kr 1
36261 |LRP Monstertruck High Performance Pipe 610 kr 488 kr 1
36500 |Airfilter for 10mm Micro carburetor neck 70 kr 56 kr 1
36510 |On Road Competition airfilter for L0mm carburetor neck 60 kr 48 kr 1
36520 |On Road Competition airfilter for 14mm carburetor neck 80 kr 64 kr 1
36550 |Hi-Flow 2-Stage airfilter for 10mm carburetor neck 160 kr 128 kr 1
36551 |Hi-Flow 2-Stage replacement sponge 10mm 2 sets (4 pcs.) 110 kr 88 kr 1
36561 |Hi-Flow 2-Stage replacement sponge 14mm 2 sets (4 pcs.) 110 kr 88 kr 1
36565 |LRP XTEC High-Flow 2-Stage Oval Airfilterset for .21-.32 engines 140 kr 112 kr 1
36566 |LRP XTEC Rain Cover for High-Flow 2-Stage Oval Airfilterset #36565 60 kr 48 kr 1
36567 |LRP XTEC Replacement Foams (4 pcs.) for High-Flow 2-Stage Oval Airfilterset #36565 220 kr 176 kr 1




36590 |Hi-Flow Airfilter Oil 60 ml 120 kr 96 kr 1
Nitro Starter Set/ Starterbox
37000 |Nitro Starter Set - Pullstart 440 kr 352 kr 1
37010 |Nitro Starter Set - Rotostart 590 kr 472 kr 1
37020 |Nitro Starter Set - Delux 1 050 kr 840 kr 1
37050 |Nitro Charger Set 310 kr 248 kr 1
37101 |LRP Competition Starterbox Spec.2 for 1/8 On-/Offroad and 1/10 TW/Trucks 1110 kr 888 kr 1
37190 |LRP Competition Starterbox - Starting disc and belts 230 kr 184 kr 1
37191 |LRP Competition Starterbox Sparepart - Motor incl. Wires 420 kr 336 kr 1
37192 |LRP Competition Starterbox Sparepart - Allignment brackets front/rear 160 kr 128 kr 1
37195 |LRP Competition Starterbox Tuningparts - Truggy Allignment brackets front/rear incl. screw 170 kr 136 kr 1
Nitro Accessories
37200 |LRP Power Start 580 kr 464 kr 1
37305 |LRP 500ccm Fuel Bottle (blue) 110 kr 88 kr 5
37310 |Glow Igniter 90 kr 72 kr 1
37315 |LRP Aluminium Glow Plug Igniter with Glow Check (blue) 320 kr 256 kr 1
37320 |Glowplug Wrench 90 kr 72 kr 1
37910 |After Run Oil 60 ml 160 kr 128 kr 1
Competition 1/8 Off Road Clutch System
37500 |LRP Competition Clutch-Set .21 Off-Road 490 kr 392 kr 1
37505 |LRP Competition Clutch Set 33.5mm .28 Off-Road 490 kr 392 kr 1
37510 |LRP Comp. Aluminium Clutch Shoes 1,69 (3pcs) 250 kr 200 kr 1
37511 |LRP Comp. Carbon Clutch Shoes (3pcs.) 150 kr 120 kr 1
37520 |LRP Comp. Clutch Springs 0.9 (3pcs) 30 kr 24 kr 1
37521 |LRP Comp. Clutch Springs 1,0 (3pcs) 30 kr 24 kr 1
37522 |LRP Comp. Clutch Springs 1,1 (3pcs) 30 kr 24 kr 1
37530 |LRP Comp. Clutch Bell 13T (1pc) 110 kr 88 kr 1
37531 |LRP Comp. Clutch Bell 14T (1pc) 110 kr 88 kr 1
37532 |LRP Comp. Clutch Bell 15T (1pc) 110 kr 88 kr 1
37540 |LRP Comp. Fly-Wheel 33,5mm (1 pcs) 100 kr 80 kr 1
37541 |LRP Comp. Clutch Nut (1 pc.) 30 kr 24 kr 1
37542 |LRP Comp. Clutch Shim Set 30 kr 24 kr 1
37550 |LRP Comp. Clutch Ball Bearing 5x10x4mm (2 pcs.) 40 kr 32 kr 1
Fuel
35510 |Energy Power Fuel 16% 1,0l 150 kr 120 kr 10
35530 |Energy Power Fuel 16% 3,5l 440 kr 352 kr 4
35710 |Energy Power Fuel 25% 1,0l 160 kr 128 kr 10
35730 |Energy Power Fuel 25% 3,5l 490 kr 392 kr 4
35910 |Energy Power Fuel 36% 1.0L 200 kr 160 kr 10
35930 |Energy Power Fuel 36% 3.5L 610 kr 488 kr 4
LRP Accessories
P0O01 LRP Shop Window Display 1 600 kr 1280 kr 1
62412 |LRP sticker set 3 50 kr 40 kr 1
62440 |LRP Lanyard Keychain 40 kr 32 kr 1
63611 |LRP Team Jacket - size M 1400 kr 1120 kr 1
63621 |LRP Team Jacket - size L 1400 kr 1120 kr 1
63631 |LRP Team Jacket - size XL 1400 kr 1120 kr 1
63641 |LRP Team Jacket - size XXL 1 400 kr 1120 kr 1
63651 |LRP Team Jacket - size XXXL 1 400 kr 1120 kr 1
63711 |LRP Hoody Shirt - size M 450 kr 360 kr 1




63721 |LRP Hoody Shirt - size L 450 kr 360 kr 1
63731 |LRP Hoody Shirt - size XL 450 kr 360 kr 1
63741 |LRP Hoody Shirt- size XXL 450 kr 360 kr 1
63751 |LRP Hoody Shirt - size XXXL 450 kr 360 kr 1
63811 |LRP Factory Team 2 T-Shirt - size M 230 kr 184 kr 1
63821 |LRP Factory Team 2 T-Shirt - size L 230 kr 184 kr 1
63831 |LRP Factory Team 2 T-Shirt - size XL 230 kr 184 kr 1
63841 |LRP Factory Team 2 T-Shirt - size XXL 230 kr 184 kr 1
63851 |LRP Factory Team 2 T-Shirt - size XXXL 230 kr 184 kr 1
Promotional items
62401 |LRP Messenger-Bag 170 kr 136 kr 1
62441 |LRP Coffee-Cup 100 kr 80 kr 1
63902 |LRP Paper Banner 119x80cm 30 kr 24 kr 1
63903 |LRP PVC Banner 300x70 720 kr 576 kr 1
99RAMP |LRP RC-Car-ramp 3-parts 2670 kr 2136 kr 1
99ZELT |LRP Factory Team Tent (6x3m with sidewalls + LRP imprint) 41890 kr | 33512 kr 1
62522 |LRP Shop Sticker 40 kr 32 kr 50
69101 |LRP Catalogue 2010 with Cars 30 kr 24 kr 50
69102 |LRP Catalogue 2010 without Cars 30 kr 24 kr 50
99095 |LRP Newsflyer 2010 - english 10 kr 8 kr 50
9906MCE [Magic Colour 2 Painting Instruction 0 kr 0 kr 1




